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The purposes of this research were to study p-xylene and acetic acid leaking from 
storage tanks using Fault Tree Analysis (FTA) to find possible causes and What If Analysis to 
assess the risks. ALOHA and Fire Dynamic Simulator (FDS) were also used to study areas 
nearby that might be at risk from these chemicals leaking from storage tanks in a factory (no 
other chemicals were stored nearby). p-Xylene was kept in 2,300 and 6,283 m3 tanks while 
acetic acid in two tanks (825 m3). This work was divided into 4 parts: (1) using FTA to 
investigate the causes of leakage (2) using What If Analysis to assess the risks (3) using 
ALOHA to analyze areas that might be at risk and (4) using FDS to analyze areas that might be 
at risk. The basis causes leading to chemicals leaking were equipment failure. Basic causes were 
used to assess the risk using What If Analysis and found that 46 events leading to chemicals 
leaking (ignited and not ignited were included). The additional measures were proposed based 
on the existing measures to mitigate and control 6 events that show the highest risk level     
(level 4) 

 
ALOHA and FDS simulation showed that the radiation due to p-xylene burning and 

gaseous products from the fire, including acid vapor threat zone covered only areas where the 
factory and other factories nearby (community was not affected) were located. 
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����ก6 �6���ก2����8�
 �
��6��8�9����ก�� ��h���� �6���6�;<�46��
5�
��������ก6 ��
�5��������ก�8ก����8����R8����	�R �6�;<�46��;�ก���8�����ก
��;	�6 �
�ก��
�WX����?��
�ก2S>��
�
�>ก� ��h���� (Bird, 1996) �����6�
�R8����	�Rก���ก����
�
�	���
�
�กd8���
������
���1�
��h�����������k5������ก���19�;��6�
����50 �<6� ���5�� 5 ��cR���� 2549 ����ก��
�R8����	�R�k�	��c�
�กd8������
��5j�;	���7W�����<���� 3 �� �
�8���4d8 1 �� c�
�กd8�������	�� 4 
c�
 �	�Rก��S>��9�ก��4�ก5j�
���<^���8����Sc�
�กd8���:����6����88ก������RX��5j�
�� (Work 
Permit System) ��^������������ก�����������
��?��ก6�������
�� 5j�;	��ก��ก��
Rก����k��

���กd��k4�ก
���<^���5��ก����d���:������
���������
��5����8����ก4�กc�
 4���h��	�R;	�
�ก���k�	�� (CSB, 2007) �
�;����5�� 6 ������ 2548 �ก���R8����	�Rc�
�กd8ก��������ก5�����6
5�




 
 

2 

�c�k��ก 5���ก���19�;��6�
����50 5j�;	�7W���W6��0��;ก
�����
���
���� 6,000 �� �
�c�
�กd8
����	�� �	�Rก��S>��9�ก��4�กก��8��4Rก��	
��<���7��

;�c�
 �1�
c�
��9��6���cWก��ก�88;	�
�����c8��4Rก�����	
��<��� 5j�;	�c�
�ก��ก����ก�
�ก�������	
��
ก����
ก
6�� �j�	��8
:�

���R���	ก���5����ก���กd8������
���1�
��h�����������k 4������������
�6�ก���ก����
�

�	�� :���y���ก���กd8����������kก�8���5�����5\��ก��ก�6�� �<6� ก��������ก ���;��^9�5��
�����ก��4�5j�;	��ก�����������
��ก�19� ��̂��
4�กก��������ก�6�����< = 2.5 (0W��>����W
�������
�
�����?�SV>, 2544) ��^��c�
�กd8ก����9�����	
4���:�ก��5j�;	�c�
�กd8������
������	�� �ก��ก��

Rก����k��
������
��5�������	
��ก4�กc�
�กd8�����^�����7��ก�8���ก���k  

 
4�ก5�����ก
6�������
���4��	d��6����������
����h�����������k�6��ก��������ก��h�

�������5������k��� ก�������	
��
���5�9
 2 <�����9ก6�;	��ก��ก��
Rก����kc�����7��ก�8���ก���k 
��6c����6�ก��ก��
Rก����kก�������	
��
���4�ก6�;	��ก�������������5����h���������6��R�?�� 
��
��9�
����4����9��;4ก���กd8������
���
�ก��������ก;�8����S�����ก���1�
��ก�8;�:�

��5��
7
�������5��� (Purified Terephthalic Acid: PTA) 	�̂�:�

��5��;<����������
���
�ก������
��ก��h����cR��8 :��01ก2��������	>	����	�Rก�������	
��
���������
���
�ก��������ก��ก
4�กc�
�กd8�����5���� Fault Tree Analysis �
�ก������������������
4�ก���	�R��
ก�������	
 
���c1
ก���������	>�^9�5��5�������87
ก��584�กก�������	
 :��;<�:���ก���:
=�?��;����5\��

��
5�05�

��
�<6�
��
�5���ก��ก�������	
 5�9
��9�����;4ก��
Rก����k4�ก���������
�� �
�
�������4�ก��ก��5��ก6�;	��ก��7
�����6��R�?�� ��ก4�ก��9��
;<�:���ก�� Fire Dynamic 
Simulator (FDS) ��^���������	>7
ก��58��
�RS	?W���������� �������������

���>8������ก���> �
��������������
���>8������ก���>5���ก���19�4�กก��
Rก����k��
c�

�กd8������
������ 
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�
�aS��� ��	 

 
1.  ��^��	����	�Rก�������	
��
���������
���
�ก��������ก��ก4�กc�
�กd8���� Fault 

Tree Analysis 
 
2.  ��^������������������
c�
�กd8���������
���
�ก��������ก���� What If Analysis 
 
3.  ��^���������	>�^9�5��5�������87
ก��584�กก�������	
��
���������
���
�ก��������

ก��ก4�กc�
�กd8:��;<�:���ก���:
=�?��;����5\��
��
5�05�

��
�<6�
��
�5���ก��ก��
�����	
 5�9
��9�����;4ก��
Rก����k4�ก���������
�� �
��������4�ก��ก��5��ก6�;	��ก��7
����
�6��R�?�� 

 
4.  ��^���������	>7
ก��58��
�RS	?W���������� �������������
���>8������ก���> 

�
����>8����������> 5���ก���19�4�กก��
Rก����k��
c�
�กd8������
�� ����:���ก�� Fire 
Dynamic Simulator (FDS) 

 
��:������ก����7
� 

 

����4����9��;4����������������
ก�������	
�
�7
ก��585���ก��4�กก�������	
;��
�


�กd8���������
��4j���� 2 c�
 �1�
������ 6,283 �
� 2,300 
Wก8�0ก>���� ���
j���8 �
�c�
�กd8
ก��������ก4j���� 2 c�
 �1�
��6
�c�
������ 825 
Wก8�0ก>���� ?��;��^9�5��4���กd8 2,700 ����

���� ��
:�

���R���	ก����	6
	�1�
;�4�
	�������
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ก�����7��ก �� 

 
�����7
�����ก�����!�� 

 
5�����S (2550) 5j�ก��01ก2��
�������������R���
ก�������	
��
กl����:���
���

�	
�?��;��
�
�กd8 :��;<�:���ก���:
=�������������R���
 ��8���5�������87
ก��58 
�8�6�7
ก��584�กก�������	
5���j���X�^� ก���ก�����8���88 BLEVE �1�
5j��������c1
��9�
����<���� �
����;	������������ก����ก�8:���ก���:
=� �6�������������?5��
�?���^9�5���ก��
�	�R;ก
��	
6
�9j� ��^��������������R���
��
�	�Rก��S>��
�������5������25�������������c;�
ก��5j����ก�����ก�8�9j� ก�S�5����ก�������	
7��ก�8�9j� ��ก4�ก��9:���ก����
�����4j�ก���^� ��6
�����c��������?�����8���
��� �<6� ก�S�5���	
6
กj���������������ก�9��������
 5j�;	�7
4�ก
������h�4��
������
ก�6�7
4�กก�������������:���ก����̂��
4�ก����������ก�9� 

 
S��]�
2> (2550) 5j�ก���������7
ก��58��
c�
8��4Rกl���=:�����>8���8� ����ก6 

Ethane, Ethylene, Propane �
�Propylene ;��R���	ก�����:������ :��;<�:���ก���:
=� 
�8�6�;�ก��กj�	���c��ก��S>ก�������	
;�:���ก�� ก�S��ก���������8����S	�����
�ก���
 
 1 ��

����� �
�������� 2 �����������6�����c���
�884j�
�
��� ��̂��
4�ก��7
ก��58����
��ก ��^��5j�ก�������8�5��8����5�
ก�������	
 ��
�������5�9
 4 <��� �8�6� Propane ��ก��
�����	
��h�����5�
�ก
5���R� �1�
��h������������h�4��
5���6��344����
����5�
ก�������	
 
�19���W6ก�8��
���;�c�
�กd8 �1�
 Propane cWก�กd8;�c�
5�������������ก5���R� ��^����4��S��344��5���6�
��0��ก�����8���19���W6ก�8�����S��
���cR������� �8�6�7
5�����4�ก:���ก���:
=�����
��
 
��̂��
4�ก:���ก��;	�7
��0��ก�����8����
 Propylene ��ก5���R� �1�
���������
ก
6���กd8;������S
��ก5���R����� 
 

Hostikka (2003) ���5j�ก��01ก2�����ก�����
�6�
�k (Pool Fire) �1�
5j�ก��5�
�
:��;<�
:���ก��5�
�����
0����>��
�	
�<�
�j���S (Computational Fluid Dynamic, CFD) ;�ก��
4j�
�
�6�
�k��^��01ก2�ก��c6���5��
���������� �
�����ก�����
�k:��;<���5���
��h�
�<^9���
�
 ก��4j�
�
กj�	��;	��ก����
�
�	��;��6�
�k��������76��0W��>ก
�
 1, 10, 30 �
� 100 
��������� ?��;�:����5����4j����ก��� (Grid Number) 50 x 50 x 100 7
ก��5�
�
�8�6��6�
�k
��������76��0W��>ก
�
 1 ��������� ��
��k4���8����8 �
������� (Laminar and Symmetric) 
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�6�
�k��������76��0W��>ก
�
 10 ��������� ��
��k4������	��
dก���� �
��������6������  
:��5���6�
�k��������76��0W��>ก
�
 30 �
� 100 ��������� ��
��k4������	���
�ก2S� 
�
�����
��k5���ก���19�4��
��
���
;�?��5�� 1 

 

 
 
@����� 1  ?���884j�
�
�k;��6�
�k��������76��0W��>ก
�
 a) 1 ��������� b) 10 ��������� 
                c) 30 ��������� �
� d) 100 ��������� 
 

�����: Hostikka (2003) 
 
��̂�
����> (2551) ����Rก�>;<�:���ก���
0����>�����?�� (FDS) ��^��;<�;�ก����ก�88

ก��4���กd8����������k 4�ก7
ก���������	>:��;<�:��ก�ก�� FDS �j�	��8�W�����5�����>
4���กd8����������k 5�������ก�����8��R
:��
������^9�5��	��������
c����
��8������� �8�6�
�RS	?W���
��6���������5���ก���19�?��;��W�����5�����>
�

��h���6�
��ก ��̂��
4�ก�^9�7��
��
�	
��������
dก

 4��	d��6�:���ก��;	�7
5������
��
ก�85�2��ก���7��	�� ��6:���ก����
���4j�ก���^� ����W
:��
����
	�̂�����R5����;	���;�]������W
����W64j�ก�� ��
��9�c���j�������

�884j�
�
5��������	
�ก	
����
:��
����
	�̂�����R 4�5j�;	�7
4�กก������
�884j�
�
 
��6���7
;ก
�����
������h�4��
 

 
Khan (2000) ����� FTA ;��W��88��
:���ก������������>��^���j�������Rก�>;<�;�

ก������������������
;�:�

���R���	ก������� 5j�;	�ก��;<� FTA 
6���19� �����d��19��
�
�
�6�;<�46���6�
{

��� 
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��5\�� (2548) ���5j�ก���������	>��88��8��
�
��
	�����

��
����kk�� :��;<� Fault 
Tree Analysis (FTA) :���R6
�������	>�����8�5��8 :�ก��ก���ก������86
��6�
��
�R�ก�S>��88
��8��
�
���:����� ��	�6�
 Water Spray System ก�8 Water Mist System ก���������	>���� FTA 4�
���
;	��	d�c1
����������\>��
ก���ก������8ก��6�
��
��88��8��
�
 :��;<���X
�ก2S>5��;<�
;�ก���������	> FTA �����
ก���<^���:�
��
�	�Rก��S>�6�
{ �
������c;<���ก��5�

�S��0����> ;�ก��	�:�ก��ก���ก������8ก��6�
 ��
�R�ก�S>��88��8��
�
 5�9
ก���j���S5�

5�2�� �
�ก���j���S4�ก���
��ก���6���R�ก�S>�1�
7
ก���j���S;	�7
��6�
�����ก�� 

 
�Rก���� (2549) �������������������
�������5���ก��4�ก�c���8��ก��กl��\���<����c���> 

:��;<�ก���������	>�7�?W�������� (FTA) ��^���������	�����	6�
5���
��?��4�ก4R�5���ก��������� 
�
�	���������������
5��4�5j�;	��ก�����������9� :�� FTA ��h���\�����������������
5��;	�7

��\>
5��<���4� �^�;	������6�4���h���������
��6������ก����
����	���6��� �
�ก����4��S������R���

;�����7
ก��58 (Consequence) �1�
5j�;	������c4��
j���8�
���
����ก���ก������<���4� 
��ก4�ก��9�8�6�ก��5����87
:��;<�:���ก�� RMP*Comp TM Ver. 1.07 �����4��ก���^���6
�����c���
7
��h��7�?�� (Graphic) ��� �
���6�����c7�����cR���k	
��<�����������ก��
��� 

 

�c5d�����ก�����!�� 
 
1.   ������ 
 

1.1  ���������
�� 
 

��h���:�����ก�=:�����>8��<���	�1�
 �1�
��h���:�����>��
��:5��
�� �
� 
��5���
�� ��h���
�	
�;���6���� ����k��� 
�
��;���
ก�=�
> �
����5��> ��6��6
�
��;��9j� 
��ก4�ก��
7����
��
��������\���8���>8<�� 	�̂�ก��8��ก������dก�> ;<���h����cR��8;�ก��
7
�� �5��k5�
�ก����� �
�����5�
�5��k5��
�;<���h������9
���;�ก����
�����	>������� �
��� 
�
�;<���h����5j�
�
�� (Sigma, 2004) �j�	��8�RS��8���5�
���� �
�5�
ก��?����
������
��
��h� ��
��9 
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1.1.1  �RS��8���5�
���� 
 

������
�����ก�8�������>8�� 8 ����� �
��=:���4� 10 ����� ��W6;�
�W���
�
��
�8���� �
�	�W6��55�
 2 	�W6 �j��6�������h�ก��8�ก�j��	�6
��
	�W6��55�
5���ก��
��W65���
��
�8���� ������
����h���h���:�����>��
��
�� �1�
���ก�8������:5��
��  
(o-xylene), ��5���
�� (m-xylene) �
�������
�� (p-xylene) 
 

1.1.2  �RS��8���5�
ก��?�� 
 
������
����h���
�	
�;���6���� ��ก
��� 
�
�������;���5\���
 �
� 

����5\�
 ���5��> ��6
�
���9j� 
 

4R���̂�� 4R�	
���	
� ����	����6����
���������� 
 
������
����4R���̂�� 137 �
0���
����� ��4R�	
���	
� 13 �
0���
�����  

���c�����h���
�	
�5���RS	?W���ก�� �
��������8����ก�0 ���6�����	����6���
�� (Vapor 
Density) 3.7 g/l �S�5����ก�0������	����6���
�� 1 g/l c��������
�������8��������5j�;	�
�RS	?W��������19� 4�5j�;	��ก��ก���������
������
�� �1�
�����	�4�
���W65����j� 
 

������
������������� (Vapor Pressure) 9 mmHg 5���RS	?W�� 20 �
0�
��
����� ��̂��
4�ก�6���������� ��h����86
8�ก�RS��8���ก�����	���
��� ก
6���^� c�����;���
����������W
���
�6������9������c���	������d� �
���h��6�5���19���W6ก�8�RS	?W��:����
 
ก
6���^�c���RS	?W���W
�6����������กd�W
�19����� ��
��9�c���ก���k�	��8����Sc�
�กd8������
�� 
�RS	?W��5���W
�19�4�5j�;	�����������W
�19� �����c���	�ก
����h�����d��19� 
 

����	����6� 
 
����	����6��^� ������6����
�9j�	��ก�6�	�1�
	�6��������� ������
����

����	����6� 0.86 g/cm3 �S�5���9j�������	����6� 1 g/cm3 ��
��9���^��������
��7��ก�8�9j� 
������
��4�
����W68�7���9j� �����������
��������	����6�����ก�6��9j� 
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��ก4�ก��9�RS	?W����
��7
�6�����	����6� �^� ��^���RS	?W���W
�19�����	����6���
�����^����W6
;��c�����
�	
�4�
�

 
 

4R���8�k (Flash Point) 
 

4R���8�k	���c1
 �RS	?W��5����j�5���R���
��
�	
�5��5j�;	��ก�������	�
��
�	
�7��ก�8��ก�0;ก
�ก�87����
�	
��1�
�����c�ก��ก������k�����^�������ก���k (NFPA 
30, 2000) ������
����4R���8�k�56�ก�8 25 �
0���
����� ��
��9�c���RS	?W����
������
�����6�
��9
��6 25 �
0���
������19����
������ก���k�ก���19�8����S	���7�� ��
������
��4�5j�;	��ก��
��8�k�19� 
 

�RS	?W��
Rก����k�����������
 (Autoignition Temperature) 
 

��^���6��{ ������RS	?W��;	�ก�8�<^9���
�
4��
��RS	?W���6�	�1�
�
�� �<^9���
�
กd4�
�����
Rก�	�������
 ���4���6�����ก���k �RS	?W����j��R�5��������ก��ก��
Rก�	�������
���\���<�����9
����ก�6� �RS	?W��
Rก����k�����������
 (Autoignition Temperature) ������
��4�
Rก����k�������
����
5���RS	?W�� 529 �
0���
����� :����64j���h����
�����ก���k 
 

�6�����������
ก���7��	�� (Heat of Combustion) 
 

�6�����������
ก���7��	����
������
��  	���c1
 �6������S��������5��
�ก���19�4�กก���j�������
��	�1�
	�6���9j�	��ก ���7��	��5���������8����ก�0 �
��RS	?W���ก�� 
(25 �
0���
�����) �6�����������
ก���7��	����h��6�5��86
8�กc1
�RS��8�����
�<^9���
�
 �
� 
;<�;�ก���j���S	������5\�?���<�
����������
���̂��
4�ก� 

 
<6�
��
ก������k 
 
����
�������4�����k��� 4����
���6��7����	�6�
����
��������
�

��ก�0;�<6�
�����������5���	����� �6��7��4���6����kc����W6��j�ก�6� ���4j�ก��
6�
��
ก������k 
(Lower Flammable Limit: LFL) �
���^������
����������������������ก 	�̂��6��7��������
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���������กก�6����4j�ก��8���
ก������k (Upper Flammable Limit: UFL) �6��7����9�4���6���
�k ��
��9��6��7��4�����k����6���^�����������������W6��	�6�
 LFL c1
 UFL 

 
������
�����6� LFL �56�ก�8 1.1% �
����6� UFL �56�ก�8 9% ��
��9�������
��

4�����k���กd�6���^���������	���
������
��5��7����W6;���ก�0 1.1-9% ก
6���^� c���������	�
��
������
����j�ก�6� 1.1 �6��	�̂��W
ก�6� 9 �6�� ;��6��7����
�����	�ก�8��ก�0 100 �6�� 
�6��7������4���6����k 

 
�
�

��ก��4R�����k (Ignition Energy) 
 
�
�

��5������5���R�;�ก��4R�����k (Minimum Ignition Energy: MIE) �^�

�
�

��5������5���R�5��;�6������;��6��7��5�������c����k��� �
��5j�;	�ก���7��	���ก���19� �6� 
MIE �19���W6ก�8	
���344�� �<6� �������5��������19�4�5j�;	��6� MIE ��j�

 ก��������������������

��:���4�5j�;	� MIE �W
�19� :��5����������������?5�=:�����>8��4����6� MIE �����S 0.25 
��

�4W
 �1�
��h��
�

��5��������ก ��^���5��8ก�8�kk���c��5���ก���19�4�กก������8�7�4���
�6������S 25 ��

�4W
 �j�	��8������
�����6� MIE �56�ก�8 0.2 ��

�4W
 (Babrauskak, 2003) �1�

ก���	
��
��
�	
�;�56�:��5����������c5j�;	��ก���kk���c�� 5�����
�

����กก�6� MIE 
��
��9�c���ก���kk���c��8����S5�����6��7����
������
��;������������5���	����� ��45j�;	�
�ก��ก������k	�̂����8����� 

 
1.1.3  ������h���������6�<���� 
 

ก�������	
��
������
��ก6�;	��ก�������������5����h���������6�<����:�� 
U.S. Department of Energy ���กj�	���6��������������
�������5���6
7
ก��58�6��R�?����

8R��
5����W6;��^9�5��5���ก��ก�������	
 (TEEL: Temporary Exposure Limits) ��
������
����� 3 
����8��
��9 TEEL-1 (150 ������d�) ��4ก6�;	��ก��ก���������^�
 	�̂������87
ก��58����
�
dก���� 
TEEL-2 (200 ������d�) ��4ก6�;	��ก��7
�����6��R�?��5��5j�;	���6�����ck���kW;	�ก
�8��
�	�^��������� �
�TEEL-3 (900 ������d�) ��4�ก��7
ก��58�R���
	�̂�����<������� :�����
������
�5�����7������������ 60 ��5� 
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1.2  ก��������ก 
 

ก���9j����	�̂�ก��������ก��h�������ก�8�������5���><���	�1�
5������W6;�
�9j�������<W ;	�������9���
�ก
���yR�ก��<���	�1�
 ��h���
�	
�;���6���� 7
��4�ก��5���
 ;<�
��h����cR��8;�ก��7
�������5��6�
{ 5���j���X5���R��^� ����
�����5� �
�;<���h����5j�
�
��;�
ก��8��ก��7
�� �5��k5�
�ก����� (Sigma, 2004) �j�	��8�RS��8���5�
���� �
�5�
ก��?����

ก��������ก��h� ��
��9 

 
1.2.1  �RS��8���5�
���� 
 

ก��������ก���ก�8�������>8�� 2 ����� ��ก���4� 2 ������
�
�=:���4� 4 ����� ��h�ก��5����W6;�ก
R6���
���>8�ก��
 :�����W��5������^� CnH2nO2 ���5����W6;�
ก
R6���
���>8�ก��
����ก6 ก��k��>��� (Formic Acid), ก��������ก (Acetic Acid) �
�ก��8��5���� 
(Butylic Acid) ��h���� 

 
1.2.2  �RS��8���5�
ก��?�� 
 

ก��������ก��h���
�	
�;���6���� ��ก
���yR� ��84�Wก 
�
�������;��9j�
������ก�����\��=:���4�ก�8�9j� 
�
��;����5j�
�
�����5���>5����� 

 
4R���̂�� 4R�	
���	
� ����	����6����
���������� 
 
ก��������ก��4R���̂�� 118 �
0���
����� ��4R�	
���	
� 16.2 �
0���
����� 

���c�����h���
�	
�5���RS	?W���ก�� �
��������8����ก�0 ���6�����	����6���
�� (Vapor 
Density) 2.07 g/l �S�5����ก�0������	����6���
�� 1 g/l ��
��9�c��ก��������ก�����8��������
5j�;	��RS	?W��������19� 4�5j�;	��ก��ก���������
ก��������ก �1�
�����	�4�
��

�W65����j� 

 
ก��������ก����������� (Vapor Pressure) 11 mmHg 5���RS	?W�� 20 �
0�

��
����� ��̂��
4�ก�6���������� ��h����86
8�ก�RS��8���ก�����	���
��� ก
6���^� c�����;���
����������W
���
�6������9������c���	������d� �
���h��6�5���19���W6ก�8�RS	?W��:����
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ก
6���^�c���RS	?W���W
�6����������กd�W
�19����� ��
��9�c���ก���k�	��8����Sc�
�กd8ก��������ก 
�RS	?W��5���W
�19�4�5j�;	�����������W
�19� �����c���	�ก
����h�����d��19� 

 
����	����6� 
 
����	����6��^� ������6����
�9j�	��ก�6�	�1�
	�6��������� ก��������ก 

������	����6� 1.06 g/cm3 �S�5���9j�������	����6� 1 g/cm3 ��^��ก��������ก7��ก�8�9j� 
ก��������ก4�
�
����h���̂9������ก��ก�8�9j���̂��
4�ก4��ก�����\��=:���4�ก�8�9j� 

 
4R���8�k (Flash Point) 
 
ก��������ก��4R���8�k�56�ก�8 40 �
0���
����� ��
��9�c���RS	?W����
ก�� 

������ก���6���9
��6 40 �
0���
������19����
������ก���k�ก���19�8����S	���7�� ��
ก��������ก
4�5j�;	��ก����8�k�19� 

 
�RS	?W��
Rก����k�����������
 (Autoignition Temperature) 
 
��^���6��{ ������RS	?W��;	�ก�8�<^9���
�
4��
��RS	?W���6�	�1�
�
�� �<^9���
�
กd4�

�����
Rก�	�������
 ���4���6�����ก���k �RS	?W����j��R�5��������ก��ก��
Rก�	�������
���\���<�����9
����ก�6� �RS	?W��
Rก����k�����������
 (Autoignition Temperature) ก��������ก4�
Rก����k���
��������
5���RS	?W�� 427 �
0���
����� :����64j���h����
�����ก���k 

 
�6�����������
ก���7��	�� (Heat of Combustion) 

 
�6�����������
ก���7��	����
ก��������ก  	���c1
 �6������S��������5��

�ก���19�4�กก���j�������
��	�1�
	�6���9j�	��ก ���7��	��5���������8����ก�0 �
��RS	?W���ก�� 
(25 �
0���
�����) �6�����������
ก���7��	����h��6�5��86
8�กc1
�RS��8�����
�<^9���
�
 �
�;<�
;�ก���j���S	������5\�?���<�
����������
���̂��
4�ก� 
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<6�
��
ก������k 
 
����
�������4�����k��� 4����
���6��7����	�6�
����
��������
�

��ก�0;�<6�
�����������5���	����� �6��7��4���6����kc����W6��j�ก�6� ���4j�ก��
6�
��
ก������k 
(Lower Flammable Limit: LFL) �
���^������
����������������������ก 	�̂��6��7��������
���������กก�6����4j�ก��8���
ก������k (Upper Flammable Limit: UFL) �6��7����9�4���6���
�k ��
��9��6��7��4�����k����6���^�����������������W6��	�6�
 LFL c1
 UFL 

 
ก��������ก���6� LFL �56�ก�8 4% �
����6� UFL �56�ก�8 19.9% ��
��9�ก������

��ก4�����k���กd�6���^���������	���
ก��5��7����W6;���ก�0 4-19.9% ก
6���^� c���������	���

ก����j�ก�6� 4 �6��	�̂��W
ก�6� 19.9 �6�� ;��6��7����
��ก��ก�8��ก�0 100 �6�� �6��7������
4���6����k 

 
1.2.3  ������h���������6�<���� 

 
ก�������	
��
ก��������กก6�;	��ก�������������5����h���������6�<����:�� 

U.S. Department of Energy ���กj�	���6��������������
�������5���6
7
ก��58�6��R�?����

8R��
5����W6;��^9�5��5���ก��ก�������	
 (TEEL: Temporary Exposure Limits) ��
ก��������ก��� 3 
����8��
��9 TEEL-1 (5 ������d�) ��4ก6�;	��ก��ก���������^�
 	�̂������87
ก��58����
�
dก���� 
TEEL-2 (35 ������d�) ��4ก6�;	��ก��7
�����6��R�?��5��5j�;	���6�����ck���kW;	�ก
�8���	�^������
��� �
�TEEL-3 (250 ������d�) ��4�ก��7
ก��58�R���
	�̂�����<������� :�����������
�5�����7��
���������� 60 ��5� 

 
2.  �c5d�ก���9����! 
 

��
�
�	�� �^� ���ก�����ก���7��	��5�������6�����c��8�R���� 4�ก6�;	��ก����������	��
ก�8<�����
�5����>���4�กก��5���<^9���
�
5j����ก���������ก�8กl����ก���4� ��6�
�����d� �
�
ก6�;	��ก���������� �
���
��6�
��h������S��ก �
�>���ก�8��
ก���7��	����9����
��
�
�>���ก�8����ก�� 3 �
�>���ก�8 5��4�5j�;	��ก��ก���7��	�������6�
��8W�S> �^� �<^9���
�
 
(Fuel), �������� (Heat) �
���ก���4� (����]��ก�����
ก�������?��;�����50X���R��, 2546)
��ก4�ก��9�
�>���ก�85��5j�;	��ก��ก��
Rก�	����6�
�6���̂��
�^� ���ก�����
Wก:�6 (Chain Reaction) 5��
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�ก���19�4�กก���7��	�� �1�
�����c5j�;	���
�
�	��
Rก��6�
�6���̂��
:����6���
���	
6
��������
4�ก?����ก :��4����
�������S�<^9���
�
�
���ก���4���6�
�	������
�5j����ก�����ก��;������
5�������c;	��
�

����������5���ก��4�กก���7��	����ก���R�����ก�������
��������
��6�
�6���̂��

c���������������
��ก���4����6�����ก�6����4j�ก���������������
��ก���4� (Limiting Oxygen 
Concentration: LOC) ก���7��	��4���6�ก���19� ��
��9�;�:�

��5����c�
�กd8����������k4���ก��;�6
กl���y^��� ��^�����
ก��ก���ก��ก���7��	�� �<6� กl����:���4� ��^��
��������������
��ก���4�;	�
����ก�6��6� LOC :��5������6��������������
 LOC 5����65j�;	�����
������k����k������6���6
�ก�� 10% :��������� ;�ก����ก�884���8�R��6��������������
 LOC ��W6;�<6�
 6%-8% :��
������� 

 
3.  �
���������ก��7�ก�e���! 

 
3.1  ก���76��
����������4�กก���7��	�� (Thermal Radiation from Fires) 

 
��^���ก����
�
�	��5������
�<^9���
�
 4�5j�;	��ก��ก���76��
�����������W
�W6���
ก6�����
 

7W���:����8 �
����
���
������
����
 ��������4�กก���76��
����9�4��	
76��:����6���
;<�
���ก
�
 �1�
4���
^�����;��W���
��6�	
dก�kk�� (Electromagnetic) :��7
��
ก���76��
������
����4��5��8ก�8 ����������
ก���76��
��������������
�����8��	�6����h�ก�:
����>�6�����
���� 
���
��
����
5�� 1  

 
3.2  ก�����8�� (Explosions) 
 

��ก4�ก�������4�กก���76��
�����������
�� �
�

��5���ก���19�4�กก�����8�� 
�����c5j�;	��ก����������	���6����
�
Wก����
�
�5j��������c1
��9�����<������� ก�����8��
:��5�����4��ก���19���^���<^9���
�
 �
�กl����ก���4������8ก�87�����ก6���ก��ก��4R�����6
7
;	�
���ก������ก���19���6�
�����d�:����6��ก��<�
���� 	�ก�����W6;�?�<����� �����R���
��
ก��
�������	�̂�ก���7��	����45j�;	��ก���������������19���6�
�����d�	�̂��ก��ก�����8����9���
 
���ก�ก����94���
����ก�8ก���7��	�� :��5��ก���7��	����^����ก�������9�����<^9���
�
ก�8กl��
��ก���4�4���กก����W6 �
������ก���7��	��4�cWก��8�R�:��������6��ก��7����	�6�
�<^9���
�

�
�กl����ก���4� 
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�������� 1  ����8����������
ก���76��
����������5����h���������6���R2�> 
 

����������
ก���76 
��
���������� (kW/m2) 

������
�5��5j�;	��ก����ก�����
��8���������
7��	��
 (����5�) 

������
�5��5j�;	��ก���7

�k�	������8 2 (����5�) 

1 115 663 
2 45 187 
3 27 92 
4 18 57 
5 13 40 
6 11 30 
8 7 20 

 

�����: ALOHA Manual (2007) 
 

ก�����8����h�7
4�กก���
��
6���
�

����ก����6�
�����d� �
���ก��5��4�5j�
;	��ก��ก��������
�
�

��;�8����S5���ก��ก�����8�� �
�

����9��
4����6��ก��;�	
��

�ก2S� ��6�6�4���h��
^��������� ก���76��
���������� �
��
�

������
��5��� (Acoustic 
Energy) ��������	��5���ก���19��ก��4�กก�����6ก��4����
�
�

���	
6���9������
 :��
�ก2S���

ก�����8���86
��ก��h� 2 ����?5 �^� 

 
1) Detonation ��h�ก�����8��5��������d���
�
^��ก���5ก ���6���กก�6�������d�����
 
 
2) Deflagration ��h�ก�����8��5��������d���
�
^��ก���5ก ���6�����ก�6�������d�

����
 
 
ก���ก�����8�� Detonation �
� Deflagration ���
ก����
�;�ก���ก�����ก�����:��

��8W�S>�����S 1/10,000 ����5� �
� 1/1,000 ����5� ���
j���8 �������5���ก���19�;�ก�S���
 
Detonation 4����6���กก�6��������5���ก���19�;�ก�S���
 Deflagration :��5������
��;�
�R���	ก������� 4���ก�����8���88 Deflagration ��กก�6� Detonation �j�	��8�344��5����7
�6�ก��
���8���� 7 �344���^� �RS	?W��8����ก�0 �������8����ก�0 �6�����ก�8��
���5��ก6�;	��ก��ก��
���8�� �RS��8���5�
ก��?����
���5��ก6�;	��ก��ก�����8�� 
�ก2S���
���
���
����6���h�8����S
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4j�ก�� (Confined) 	�̂�8����S:
6
�4�
 (Unconfined) �����S��
���5��ก6�;	��ก��ก�����8�� �
�
�����ก���
6���
�

����
���5��ก6�;	��ก��ก�����8�� 

 
3.3  �����ก���
6���
�

�� (Heat Release Rate Theory) 4�กก���ก���k�	�� 
 

�����ก���
6���
�

���������� (Heat Release Rate, Q& ) �^� �����5���
�

�� 
��������cWก�
6����ก��4�กก���7��	��:���
�

����������cWก���;��W���
ก�:
����> (kW) 
�1�
�����c�j���S	������ก���
6���
�

������������
�<^9���
�
���4�ก 

 
Q&  = m& A�Hc      (1) 

  
��^�� 
 
Q&  =   �����ก���
6���
�

���������� (kW) 
m&  =   k
�ก�>ก���7��	����
�<^9���
�
 (g/m2s)  
A =   �^9�5����
ก���7��	�� (m2)  
� Hc =   ����������
ก���7��	�� (kJ/g)    
 

�6�����������
ก���7��	�� (Heat of combustion) ��h��
�

����������5���<^9���
�

�
6����ก���6���
��
�<^9���
�
5���7��	�� 

 
3.4  ���������
7
7
��5���ก��4�กก��8��ก���7��	�� 
 

7
7
��5���ก��4�กก��8��ก���7��	����6�
��8W�S>��
�<^9���
�
<����=:�����>8��
��9�4����ก�8������ ���>8������ก���> �
��9j� �6��ก���7��	��5����6��8W�S>4����
���>8������ก���>������19������� (Quintiere, 2006) �1�
���>8������ก���>�
�
���>8������ก���>��h�กl����2 c�������8�����W6�6�
ก��4���h���������6���R2�> ��
��9�
ก��5��
�	���5� (2520) ���กj�	�������S�������������
�������;�8����ก�0��
 
ก��5j�
��:���y
���5���������c5j�
�����:����6�ก�����������
����
5�� 2  

 
��ก4�ก��9�RS	?W����������5���ก���19�4�กก���ก����
�
�	����
��h����������ก��6�


	�1�
5�������cก6�;	��ก����������	���6�:��
����
��
c�
�กd8������� �RS	?W��5��ก6�;	��ก������ 
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�������� 2  �6��������������
กl�����>8������ก���>�
����>8������ก���>;�8����ก�05�� 
                  �������c5j�
�����:����6�ก��������� 

 
<^��������� �������������
������� 

 ������d�:��������� ��

�ก����6���ก�0  
1 
Wก8�0ก>���� 

���>8������ก���> 5,000 9,000 
���>8������ก���> 50 55 

 
�����: ก��5��
�	���5� (2520) 

 
����	���6�:��
����
��
c�
�กd84��19���W6ก�8����R5��;<�;�ก������
c�
 :���RS	?W��5��5j�;	��ก��
��������	���6�:��
����
��
c�
5������
�������>8�����
 (Carbon Steel) �^� 330 �
0���
����� 
�j�	��8�RS	?W��5��5j�;	��ก����������	���6�:��
����
��
c�
5������
���������
����
 (Stainless 
Steel) �^� 100 �
0���
����� (ESDEP, 1993)  

 
4.  <���ก������ก�����!�� 
 

4.1  :���ก���:
=� 
 

:���ก���:
=� (Areal Locations of Hazardous Atmospheres: ALOHA) ��h�
:���ก���j���d4�W�5��;<�5j����ก��ก��4�������
�������;�8����ก�0 ���5�9
����85��4��ก��
������� ��
��9��������5��:���ก���:
=��W�4�ก��ก��h�กl��	�̂��������5�����	�ก
����h������
6�� 
:���ก���:
=���h�:���ก��ก���j���Sก�����6ก��4�ก��
������5���>���	�
6�� ��]������W

�����R�
������
��
��^�
�6�
{ ;�����50�	��]�����ก� ��
��9�c�����
ก��4j�
�
�c��ก��S>ก��
�����	
5���ก���19�;�����50�5� 7W�;<����
ก��ก����W
�����R�
������
����������� ������:
=�
4j���h����
;<�����W
�	
6���9;�ก���j���S����	����6���
��ก�0 �����W
��
�^9�5�� �1�
���
�	
6���9
��7
�6�ก�����6ก��4����
�������;�8����ก�0 

 
:���ก���:
=���h�:���ก��;<��j���Sก�����6ก��4����
����������	�
6��  

:��;<���ก��ก������88 Guassian Dispersion Model ������19�:�� National Oceanic and 
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Atmospheric Administration (NOAA) �:
=����
;<�����W
5�
�����R�R������5����;<�;�ก��
�j���S �<6� �����c�j���S������ก�6�
��	�6�
���5�������กก�8���5�������4�� �����c���

������ก�6�
��	�6�
�c��5��:
6
�4�
ก�8�c��5�����
��� ก�����6ก��4����
�������5�������	
��
;���ก�0 ����?��?W����ก�0�
�
�ก2S��y�����
������� ��^��;�6����W
�y�����
��������
�� 
�:
=������c���
7

�ก2S�ก�����6ก��4�� �
������������ S �j��	�6
�6�
{ ��
��������� 
5������ก�6� Threat Zone ��
���
;�?��5�� 2 :����ก��5��;<�;�ก��5j����ก�����6ก��4����

��������^� ��ก�� Guassian Dispersion ��
���
;���ก��5�� 2 

 

 
 

@����� 2  ���

�ก2S�ก�����6ก��4�� �
������������ S �j��	�6
�6�
{ ��
��������� 5�� 
   ����ก�6� Threat Zone 
 
�����: ALOHA Manual (2007) 
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(C)(x, y, z) = 
u

Q

zy

m

σπσ2
exp





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
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


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
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−
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2

1
exp

2

1
exp

z

r

z

r HZHz

σσ
  (2) 

 
��^�� 
 
(x, y, z) = �j��	�6
5�����
ก��5��8�������������
�������;�����ก� 

 x, y, z (m) 
C = �������������
�������5�����
ก��5��8 (g/m3) 
Qm = �����ก����8���������4�ก�	
6
กj����� (g/s) 
Hr = �����W
��
�	
6
กj�����5���
6��������� (m) 
u = ������d�
� (m/s) 

yσ  = �6���������5\��ก�����6ก��4����
�������;�����ก� y (m) 

zσ  = �6���������5\��ก�����6ก��4����
�������;�����ก� z (m) 
 

��ก4�ก��9:���ก���:
=������c5j����ก�������	
��
�������;�ก�S�
Rก����k
�
�ก6�;	��ก��ก�����8�� :����^��;�6����W
�y�����
��������
�����W
5�
�����R�R������5���
�� 
�:
=�4����
7

�ก2S���
�������4�ก��
���8��5�������6�
{ ��
���
;�?��5�� 3  

 
����W
5�����
����������;�:���ก���:
=���5�9
	�� 5 ����?5�^� ������� ก����9


�6�������5�
����8����ก�0 ก��กj�	���W��88ก��8��4R������� ก��กj�	�����	�R�
�
�ก2S�
ก�������	
 �
�ก��กj�	���c��ก��S>4j�
�
 :�����
��������
��6
�����W
����
��9 

 
������� 
 
:���ก���:
=������ก���������;	��
^�ก��^��;	�:���ก���j���S ;�ก�S�5���:
=�

��6�W�4�ก�������5�����
ก���j���S ���
5j�ก��กj�	���RS��8���5�
�����
�5�
ก��?���
�����������
��;��:
=� 
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@����� 3  ���

�ก2S��������4�ก��
���8��5�������6�
{ 4�กก��
Rก����k��
�������5�������	
 
 
�����: ALOHA Manual (2007) 

 
ก����9
�6�������5�
����8����ก�0 
 
������5�
����8����ก�0��7
;�ก���j���S�
�7

��\>5�����4�กก���j���S ��
��9�

ก��กj�	���6�������5�
����8����ก�0 4j���h����
กj�	��;	����6�;ก
�����
ก�8�c��ก��S>4��

��ก5���R� �6�������5�
����8����ก�05���j���X����ก6 5�05�

� ������d�
� ����8���5���ก�
R� 
��c��?����
8����ก�0 �
��?������<^9� ��h���� 

 
ก��กj�	���W��88ก��8��4R������� 
 

�ก2S�?�<��5��8��4R�
��?�����
�������5��8��4R ��7
�6�
�ก2S�ก��ก��4�����

��
������� �<6� ก���กd8�������;��W���
กl��5j�;	������ก�����6ก��4���W
ก�6���
�	
� 
�W��88ก��8��4R�������5��:���ก���:
=�;	�กj�	�� ����ก6 �W��88?�<�� (5�
ก
� 
5�
ก��8�ก) ��������76��0W��>ก
�
 �
��?�����
�������5��8��4R ��h���� 
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ก��กj�	�����	�R�
�
�ก2S�ก�������	
 
 
ก��กj�	�����	�R�
�
�ก2S�ก�������	
 ���กj�	��;	�;ก
�ก�8�c��ก��S>4��
 �
�

��������h��������ก5���R� ��^��4�����j�7
ก���j���S��;<������6�
�	����� �����:���ก�� 
�:
=���6�����cกj�	�����	�R�
�
�ก2S�ก�������	
��� 

 
ก��กj�	���c��ก��S>4j�
�
 
 
:���ก���:
=������c��������c��ก��S>4�ก�c��ก��S>4j�
�
��� 5 

�c��ก��S> �^� 
 
1) ก�������	
��
������� �
���6
Rก����k 
 

�j�	��8ก���������
�ก2S���9 ��h�ก�����������^����4��S�����������h���2��

�������5���6
7
ก��58�6��R�?����
8R��
5����W6;��^9�5��;ก
�����
�c��5���ก���	�R ���5�9
����
�
��?����
7W�5��4���������
�8�	�R :����4��S�4�ก��0��ก�����6ก��4����
������� �1�
:���ก��
�:
=�5j����4�กก��;<���ก�� Heavy Dispersion :�����
7
ก���j���S;��W���
�6�����]�� 
TEEL (Temporary Exposure Limits) �1�
��h��6�5��86
8�ก������h�������� �1�
กj�	��:�� U.S. 
Department of Energy, 1992 :��:���ก�� ALOHA 4������
7
�6� TEEL ;� 3 ����84�ก
����8�������������
������� ��
��9 TEEL-1 ��4ก6�;	��ก��ก���������^�
 	�̂������87
ก��58
����
�
dก���� TEEL-2 ��4ก6�;	��ก��7
�����6��R�?��5��5j�;	���6�����ck���kW;	�ก
�8���	�^������
��� �
�TEEL-3 ��4�ก��7
ก��58�R���
	�̂�����<������� ��̂��
4�ก TEEL �����4�กก��5�
�
;�
����> :�����5��������
�5�������8���������� 60 ��5� 

 
2) ก�������	
�88	��ก����
�������5�����������k (Flammable Vapor Cloud) 

 
ก���������ก�S���9��h�ก���������ก�������	
��
�������:����4��S�����

���������
�������5�����6ก��4����ก��4�ก?�<��8��4R ��^��กj�	�������
��?���6�ก�����
ก��
ก���ก����
�
�	�� :����4��S�5���6����4j�ก��8���
ก�����8�� �
��6����4j�ก��
6�
��
ก�����8�� 
�1�
:���ก���:
=������c5j����ก��ก��4����
�������������������� �
�������� 
ก�������	
�88ก
R6�	��ก����
���������� 
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3) ก���ก�����8��4�ก	��ก����
������� (Vapor Cloud Explosion) 
 

ก����4��S�ก���ก�����8���88 Vapor Cloud 4���4��S���
���5���ก���
���6
7

ก��58ก�88R��
�
�:��
����
��������������
����������
���������� :���ก��4�5j����
����5�
5���ก������������
��5������8�6�
 { 

 
4) ก���ก����
�
�	���88 Jet Fire 
 

��h���
�
�	��5����
�ก2S���
��k��8�R6
��
 �1�
�ก��4�ก�������5�������	
��ก4�ก
c�
 �
���ก��ก��4R����8���19�;�5��5� 5j�;	��ก��ก��
Rก�	�� ;�
�ก2S��
����8��
�
 ��^����4��S�
7
ก��584�ก��
���
�
�
�����������
ก���76��
��  

 
5) ก���ก�����8���88 BLEVE (Boiling-liquid expanding-vapor explosion) 
 

ก�����8���88 BLEVE 4��ก���19�c��c�
5��8��4R��
�	
�5�����RS	?W���W
ก�6�4R�
��̂����
��
�	
���9� (���������
��
�	
���กก�6��������8����ก�0) 7
5��������^�	��ก
����
��
�	
�5�������c������4����6ก��4�� �1�
��4�ก����
�
�	��	�̂�ก�����8��c�����7��ก�8
���ก���k ก�����8���88 BLEVE �����c�ก���19����c�� �ก���k�	��?����กc�
 5j�;	�7��
��
c�

�����8���������
��6
c6��������������
��
�	
�5����W6;�c�
 5j�;	������������
��
�	
�
�W
�19� �
�:��
����
��
c�
����	�� c��c�
�ก����ก4�5j�;	��ก�������	���
��
�	
�5��
���6ก��4����ก���
�������5��4��ก��ก�����8�� (Crowl, 2002) 

 
ก���ก�� BLEVE ��
j���8��9���� ��
��9 

 
1) �ก����
�
�	�����
{c�
5��8��4R��
�	
� 

 
2) ��
�
�	���6
c6������������5��7��
��
c�
 

 
3) ��
�	
�?��;�c�
�����8��������76��5�
7��
��
c�
 5j�;	��RS	?W����


��
�	
��
��������;�c�
�W
�19� 
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4) c����
���
��
�
�	���6
c6������������5��7��
��
c�
 ;��6��5����h���	�̂�
8����S	
�
����
c�
 4�5j�;	�������d
��
��
:��
����
��
c�
�WX���� 

 
5) ������d
��
��
:��
����
c�
5���WX������̂��
4�ก�������� 5j�;	�c�
��ก�
� 

5j�;	�����
��
�	
�5����W6;�c�
���6ก��4����ก�� 
 

c����
�	
�5��8��4R��W6;�c�
��h���
�	
����k ��^���ก�� BLEVE �
�����

��
�	
������7��ก�8���ก���k 4�5j�;	��ก�����8���1�
��
�	
�5����
�	����W64����6ก��4��
��ก������ก
4�กc�
 ��6c�
����
��
�	
���6���7��ก�8���ก���k ��44�5j�;	��ก��ก
R6�	��ก�� 
(Vapor cloud) �1�
ก
R6�	��ก����9��45j�;	��ก����������6��� :����45j�;	�������h���2	�̂�
7��	��
�	����� �<6� ��
�	
�5����h�ก�� 

 
���4j�ก����
:���ก���:
=� 
 
:���ก��:�:
=���h�:���ก��5��������ก�
���h�5�������8;�ก��5j����ก��

���6ก��4���
��������������
�������5�������	
��ก4�กc�
�กd8 ��ก4�ก��9��
�����c5j����
��������4�กก���76��
������������
�������5�������	
�
�
Rก����k ��6�:
=������4j�ก��5j�;	���6
�����c5j�����c��ก��S>5�9
 5 �c��ก��S>��9 �^� 7
�
�����4�กก���ก���k�	��	�̂����ก��������� 
ก��8��ก��5����7
ก��58	�̂��3�������6�ก�����6ก��4�� ก��7��ก����
�������5�������	
 �^9�5��

������
 �
��������4�ก<�9��6��5��ก����d���ก����̂��
4�ก��
���8�� (ALOHA Userxs Manual, 
2007) 

 
4.2  :���ก���884j�
�
�
0����>�����?�� (Fire Dynamic Simulator)  

 
:���ก���884j�
�
�
0����>�����?�� (Fire Dynamics Simulator: FDS) ��h�

:���ก��5�
�����
0����>��
�	
�<�
�j���S (Computational Fluid Dynamics: CFD) 5��cWก
�����:���c�8�� NIST (The National Institute of Standard and Technology) ��
����50
�	��]�����ก� �j�	��84j�
�
ก����
^���5����
�k ก����
^���5����
���� 	�̂�ก���	
��
��ก�0
����5���ก��4�ก��
�
�	�� FDS 4j���h����
;<�:���ก�� Smoke View ������<6��;�ก�����
7
��
 
FDS  
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FDS ��	
�กก��;�ก��5j�
��:���86
	��
 ����� 	�̂��^9�5��5�����
ก��4j�
�
��ก��h�
�6���
dก{ ����ก�6� Computational cell ��^��;<��j���S����	����6� ������d�
� �RS	?W�� ����
��� �
��������������
�������;���6
�<6�
 :��;<�ก�ก����R��ก2>��
�
��
�

�� ;<��RS��8���
��
����R�6�
{ �<6� ����R�ก��6
 7��
	��
 �^9�	��
 �
������;�ก��4j�
�
�	�Rก��S>ก���ก���k
�	�� ���������c;�ก�����
7
��
�884j�
�
��9�19���W6ก�8ก����ก�884j���� Cell ��
��9�
7W�;<�
�����
������;4�6����
ก��7

��\>5��������
��������ก��������
;� :��������
�;�ก��
�����
7
��4��W6;�<6�
��
��5�c1
�����	>  

 
;�ก��4j�
�
��
�
�	��;��^9�5��?����ก����� (Outdoor) ��
�ก2S���6��ก�6�
ก�8

ก��4j�
�
��
�
�	��?��;������ (Indoor) ��̂��
4�ก��	
�������� (Parameters) 5���
���ก�� ��6;�
ก��4j�
�
��
�
�	��?����ก����� �����cกj�	��ก����
^���5����

�;	���h�������?������
4��
5����^�������W
������19�������d���

�4�������19���������� :����������
ก��4j�
�
��
�

�	��?����ก�����5����ก�6�
4�ก������?��;�������^� �����ก��
�

��
�RS	?W��8����ก�0 
:��5�����5Rก{�����W
5��������19��RS	?W��4�
�

 ��
��9��RS	?W����
����5��
���19���4�
�

��^��
�����W
������19� (McGrattan, 2008) 
 

4�ก?��5�� 4 ��h������6�
;�ก��4j�
�
��
�
�	��;��^9�5��?����ก����� :��
�884j�
�
c�
�9j������h�ก��กj�	��4�ก���cR����	
����	
��<�9����ก�8ก�� 4���
�ก2S���h�
5�
ก��8�ก กj�	���c��ก��S>��
�
�	���ก���19�5������8���
c�
�9j���� �
���
���
^���5��76�� 
ก���ก��3X	�ก���ก����
�
�	��;�
�ก2S���9 ���
;<�����������><6��;�ก���j���S :����ก��5�� 5 
4�cWก;<�;�ก���j���S��^��	������ก���
6���
�

��4�กก��
Rก����k��
c�
�9j���� 

 
Smoke View �����c���
7
4�ก�884j�
�
 FDS ���5�9
;�
�ก2S�2 ���� �
� 3 ���� 

:�� Smoke view 4����
7
��
����W
 S ��
�;���
�	�1�
 ��ก4�ก��9��
�����c���
7
;�
�W��88�̂��{ �<6� animated flow vectors, particle animations for simulating smoke or water 
droplets :����6
��5����4�cWก�
^�ก�j���;<�������cR����
�> 	�̂�
�ก2S��3X	�5����ก�6�
ก�� 
�19���W6ก�8ก����������W
 �
�ก��กj�	���6���
7W�;<�
�� Smoke View ;�
�ก2S� 2 ���� �����c
���
?��ก����
^����	�:���86
����y���5�9
;�����ก���� �
��ก���9
��
��6
�����8;�
ก�����
7
 ��ก4�ก��9 Smoke View ��
�����c���
7
;��W��88����W
5����h� 3 ���� ��� 5�9
��9
�19���W6ก�8�^9�5���6�
��
=��>����ก> ��̂��
4�ก��88��9��6�����c�กd8����W
����
����
�ก���j���S 
��
��9�7W�;<�41
���
กj�	������W
5�����
ก���กd8ก6�������ก���j���S 
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@����� 4  ?���884j�
�
�k�	��5���6��8���
c�
�กd8�9j���� ����������d�
� 6 �����6�����5� ���� 
               5���ก���19�4��	
�����5�05�

�5�����กj�	����� ����
�����
���
��k5����W6�	�̂�c�
  
               (�����) 4�86
8�กc1
�RS	?W����
��
��k 
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5.  ก�������������� ���� (Risk Assessment) 
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��\�ก��<�986
�������������ก��	
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�������5����:�ก���ก���19�;���6
��R�ก�S>;�ก��8��ก��7
�� :����8R�6��	�Rก��S>��9������c
�ก���19������6�
�� �
��	�Rก��S>��9�5j�;	��ก�����������
�����6�
�� ��\���9��h�5�������8 
;��R���	ก������� 

 
4) Safety review ��h���\�ก��5��;<�;�ก��<�986
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5) Fault Tree Analysis (FTA) ��h���\�ก��<�986
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�������� 3  ก�������8�5��8��\�ก��<�986
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 Fault Tree Analysis (FTA) 
 

�����: Crowl (2002) 
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3) กj�	���	�Rก��S>5����6�j�����4��S�	�̂���6�6���h�������<6� k��76� �9j�56�� 
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   ������� (Guidelines for Hazards Evaluation Procedures) 
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3 �W
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��ก 5R�
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ก��58�6�<R�<�1 

1 �
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�������� 6  (�6�) 
 

����8 �����R���
 ���
������ 
4 �W
��ก ��7
ก��58�6����
���
����R���
��ก ���
;<�5�����ก��
�

��
����;�ก���ก��� 
�����R���
5���6
7
ก��58�6�5����>���3 

1 �
dก���� 5����>�������	��������ก	�̂���6����	���
� 
2 ���ก
�
 5����>�������	�����ก
�
�
������c�j�����ก��7
���6������ 
3 �W
  5����>�������	����ก�
����
	�R�ก��7
��;�8�
�6�� 
4 �W
��ก 5����>�������	����ก�
����
	�R�ก��7
��5�9
	�� 

 
�������S  17
ก��58�6�<R�<� 	���c1
�	�R�j���X�6�<R�<� ก��8���4d8 �4d8������
���<�<�  
                  ��������	���6�5����>�����
<R�<��
����<�<� 
                  27
ก��58�6����
���
��� 	���c1
 ก����^���:5���
�����	����
 ���
���
��� �<6� 
                  ��ก�0 ��� �	
6
�9j� ��h���� 
                  3��������	����
5����>���;���6
�����8:�

�������cกj�	���19���
������� 
                  �	����� �1�
:�

��5��5j�ก��01ก2�กj�	��;	� ����8 1 �W
�6���������	����6�ก��  
                  50,000 8�5 ����8 2 �W
�6���������	�� 50,001-100,000 8�5 ����8 3 �W
�6����� 
                  ����	�� 100,001-1,000,000 8�5 �
�����8 4 �W
�6���������	����กก�6� 1,000,000  
                  8�5�19��� 
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2 3-6 ���������
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��ก��585������ก����8�R� 
3 8-9 ���������
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��ก���j�����
����^��
����������
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��\>  ����	��� 

4 12-16 ���������
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����ก�� 

 

1.  ก�������������� ���� 

 
7W���4���6��ก�8��0�ก�7
����4��S��R�ก�S>�6�
{;�8����Sc�
�กd8���������
�� (?��5�� 7) 

�
�ก��������ก (?��5�� 8) 5����:�ก��5j�;	��ก��ก�������	
��
������� :���������5�9
 2 <�����9 
cWก�กd8���;�c�
�กd8�������4j���� 4 c�
 �86
��h�c�
�กd8���������
��5���������6�
ก�� 2 c�
 �^� 
2,300 �
� 6,283 
Wก8�0ก>���� �6��ก��������กcWก�กd8;�c�
5���������56�ก�� 2 c�
 �^� 825 

Wก8�0ก>���� (?��5�� 9) :��ก��8��ก��4���กd8����������;<��5���� Fault Tree Analysis ��^��5j�
ก���������	>	����	�Rก�������	
��
���������ก4�กc�
�กd8 4�ก��9��j�7
ก���������	>5����� 
(���	�R�^9�]��) ��;<�;�ก������
�j�c�� What If ��^��;<�;�ก������������������
���� What If 
:��;<�	
�กก��������8��8ก��:�

���R���	ก����6�����	
�ก�กSV>ก��<�986
������� ก��
����������������
�
�ก��4��5j��7�
��8��	��4��ก�����������
 �.0. 2543 5�9
��97
ก���������
���������
5�����4�cWก�j�����4��S�:���j��1
c1
����ก��5������W6���� ��^��กj�	������ก��
��
�
��8�R����������
5���	�������������� 
 
2.  ก���������9�ก���:����
���������ก��7�กก���
����� 
 

�������7
ก��58��
�������5���ก���19�4�กก�������	
:��;<�:���ก���:
=�����><�� 
5.4.1 ��^���������	>�^9�5��5�������87
ก��584�กก�������	
��
���������
���
�ก��������ก��ก
4�กc�
�กd8 ?��;����5\��
��
5�05�

��
�<6�
��
�5���ก��ก�������	
 5�9
��9�����;4ก��
Rก����k
4�ก���������
���
��������4�ก��ก��5��ก6�;	��ก��7
�����6��R�?�� :������
5�� 8 ���
�6����
���5�����
����;	��ก6:���ก���:
=��j�	��8c�
�กd8���������
�� :��c�
�กd8ก��������ก�6����
���5��;<��	�^��ก�8���������
��5Rก���ก�� �ก����������
c�
�กd8��� 
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	����
� 1 c�
�กd8���������
��   	����
� 9 ��
>�5j�
�������^� ���5�� 2 
	����
� 2 �R�ก�S>�������8��
�	
�  	����
� 10 ��
>�5j�
�������^� ���5�� 3 
	����
� 3 �R�ก�S>��8�R��
��������8��
�	
� 	����
� 11 ��
>�	��;4 
	����
� 4 �R�ก�S>��8�R���
���  	����
� 12 �R�ก�S>��ก4�8��
��k���5��1 <��� 
	����
� 5 ��
>���8�R� ���5�� 1   �����	�6�
	�����
� (In-Line) ���� 4 ��9� 
	����
� 6 ��
>���8�R� ���5�� 2   	����
� 13 �R�ก�S>��ก4�8��
��k���5��2 <��� 
	����
� 7 ��
>���8�R� ���5�� 3   �����	�6�
	�����
� (In-Line) ���� 8 ��9� 
	����
� 8 ��
>�5j�
�������^� ���5�� 1   
 
@����� 7  �R�ก�S>�6�
{;�ก��8��ก���กd8�������8����Sc�
�กd8���������
��5��01ก2� 
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>�5j�
�������^� ���5�� 2 
	����
� 2 �R�ก�S>�������8��
�	
�  	����
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>�5j�
�������^� ���5�� 3 
	����
� 3 �R�ก�S>��8�R��
��������8��
�	
� 	����
� 10 ��
>�	��;4 
	����
� 4 �R�ก�S>��8�R���
���  	����
� 11 �R�ก�S>��ก4�8��
��k���5��1 <��� 
	����
� 5 ��
>���8�R� ���5�� 1   �����	�6�
	�����
� (In-Line) ���� 6 ��9� 
	����
� 6 ��
>���8�R� ���5�� 2   	����
� 12 56���8����
�	
� 
	����
� 7 ��
>�5j�
�������^� ���5�� 1  	����
� 13 c�
��ก4�8����
ก��������ก 
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{;�ก��8��ก���กd8�������8����Sc�
�กd8ก��������ก5��01ก2� 
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@����� 9  8����S4���กd8�������ก6��
j��
��
�����W6ก��8��ก��7
��;�:�

��5��01ก2� :��c�
�กd8��W6 
               ;���^���ก�9�������� (Dike) ����ก���
 38 ���� �
���� 71 ���� 
 
�������� 8  �6�������5��;�6;�:���ก���:
=� 
 

������ ���������
�� ก��������ก 
<�����
������� - ������
�� - ก��������ก 
�?��8����ก�0 - ������d�
� 0.26 �����6�����5�1, 2 

- 5�05�

� (�	�̂� ;�� �������ก ������ก ����ก�y��
�	�̂� �������ก
�y��
;�� ������ก�y��
�	�̂� �
�������ก�y��
;��) 

- �?��7����
�^9�5����h��^9�5��:�

�� (urban or forest) 
- �RS	?W�� 38.7 �
0���
�����1 
- ��c���?����
8����ก�0��h��� (A) �j�	��8ก
�
��� ��h��k� (F) 
�j�	��8ก
�
�^� 

- �?������<^9�����8ก
�
	�̂� 50% 
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�������� 8  (�6�) 
 

������ ���������
�� ก��������ก 
�?��?�<��
8��4R������� 

- c�
5�
ก��8�ก�����9
 
- ����76��0W��>ก
�
 15 ���� �����W
 13 ���� 
�j�	��8c�
�กd8���������
������ 2,300 m3 
�
�����76��0W��>ก
�
 19.5 ���� �����W
 
18.24 �j�	��8c�
�กd8���������
������ 
6,283 m3 

- ����76��0W��>ก
�
 10 
���� �����W
 10.5 
����  

- �c�����
�	
� 
���	�Rก��
�����	
 

- 56�46�����������5��ก��8��ก��7
��5����W6�W
4�ก�^9� 50 ��������� �ก���W
������������76��0W��>ก
�
 6 ��9� 

 
�������S  1�6���
������d�
�5��;�6;	�:���ก����h�������d�
�����5���R� �6���6���
�RS	?W����h� 
                  �RS	?W����
���5������5���R� �1�
5�9
��
�6���9�����4�ก�c���ก���กd8����W
��
ก�� 
                  �R�R������5����	�6�
�� 2549 - 2551 
                  2����6��6���
������d�
�5��;�6;	�:���ก����h� 0.26 �����6�����5� ��6�:
=�4� 
                  ��
��������
���9��h� 0.46 �����6�����5�:�����:�����������6�������d�
���9���j�5�� 
                  :���ก����9�����c�������	>����^� 0.46 �����6�����5� 
 
3.  ก���������9�ก���:����
���������ก��7�กก���Sก����e 
 

�������7
ก��58��
�������5���ก��4�กก��
Rก����k:��;<�:���ก�� FDS ����><�� 5 
(Trial Version) ��^���������	>�^9�5��5�������87
ก��584�กก��
Rก����k��
���������
��;�c�
�กd8 
?��;����5\��
��
5�05�

��
�������d�
� 5�9
��9�����;4ก��
Rก����k��
c�
�กd8���������
��
4j���� 2 c�
 ���� 6,283 �
� 2,300 
Wก8�0ก>���� :������
5�� 9 ���
�6�������5�����
����;	��ก6
:���ก�� FDS 
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�������� 9  �6�������5��;�6;�:���ก�� FDS 
 

������ �6�5��;�6;�:���ก�� 
������
c�
�กd8 - ����76��0W��>ก
�
 19.5 ���� �����W
 18.24 �j�	��8c�
�กd8

���������
������ 6,283 m3 
�?��8����ก�0 - ������d�
� 

   (1) ����5���R� = 0.26 �����6�����5� 
   (2) �y
��� = 0.5 �����6�����5� 
   (3) ��ก5���R� = 1.18 �����6�����5� 
- 5�05�

��^� �	�̂� ;�� �������ก �
�������ก 
- �RS	?W�� 38.7 �
0���
�����1 

������
:���� - ก���
 × ��� × �W
 = 80 × 100 × 100 ���� 
4j����ก��� - 40 × 50 × 50 :����6
�ก���������ก���
 × ��� × �W
  

  = 2 × 2 × 2 ���� 
�6��RS��8�����
������
�� - ����	����6� = 860 kg/m3 

- ��������4j����� = 1.72 kJ/kg.K 
- ��������4�กก���7��	�� = 4.08 × 104 kJ/kg 
- 4R���̂�� 138 °C 

������
���
ก��
Rก����k - 180 ����5� 
 
�������S  1�6���
�RS	?W����h��RS	?W����
���5������5���R��1�
�����4�ก�c���ก���กd8����W
��
ก�� 
                  �R�R������5����	�6�
�� 2549 - 2551 
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�กd8�������;��R���	ก�����:��
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ก���
 �1�
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����4����97W���4�����5j�ก��01ก2�
�
��������	>���������
��
ก�������	
��
��������
��ก��ก��
Rก����k���c1
7
ก��585�
����
�R�?�� 8����Sc�
�กd8���������
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����:�������	6
	�1�
;�4�
	�������
 :���86
��9����
ก��01ก2���ก��h� 4 �6�� �^� ก��	����	�R��
ก�������	
���� Fault Tree Analysis ก���������
���������
�����5���� What If Analysis ก���������	>�^9�5��5�������87
ก��58:��;<�:���ก�� 
�:
=� �
�ก���������	>7
ก��58��
ก��
Rก����k:��;<�:���ก�� FDS 
 
1.  9�ก���� ����S���ก���
������!�� Fault Tree Analysis 

 
;�ก��8��ก��4���กd8���������
:�

��5��5j�ก��01ก2���9� ���������
���
�ก�� 

������กcWก;<���h����cR��8;�ก��8��ก��7
���1�
�������5�9
 2 <�����9��ก��8��ก��4���กd8
�	�^��ก�� :���������4�cWก
j��
��
�����W6:�

��76��5�
56��6
�����W6c�
�กd85�
ก��8�ก���518 
��^�����
ก��ก�������	
��
����ก�W68����ก�0 ���������
���
�ก��������กcWก�กd8���;�c�
�กd8
5���RS	?W���
��������8����ก�0 ��ก����8�R�����8��
�	
�;�c�
��6;	��ก�� 85% ��
����4Rc�
 
�1�
��	�6�
ก���6
�����W6c�
�กd8���
������4��8����8��
�	
�:���W4�ก�R�ก�S>�������8
��
�	
� ��^�����
ก��ก��
����ก����
������� 5�9
��9;���6
���9����ก���กd8��� ��:�ก��5��4�
�ก��ก�������	
��
���������ก4�ก5�9
�กd8 :���������5�������4�กก�������	
��9 �^� ก��
Rก����k 
�
�����
�������5����7
ก��58�6��R�?�� 

 
ก��	����	�Rก�������	
��
���������
���
�ก��������ก��ก4�กc�
�กd8��9 ���;<�

�5���� Fault Tree Analysis :��4�ก?��5�� 10 �8�6����	�Rก�������	
��
���������
���ก��4�ก
ก��
��c�
 c�
�กd8�����ก 	�̂�ก��������
56��6�� (Flexible Hose) กd��� (ก��������
56��6����h�
���	�R�^9�]��41
��6���
�������	>�6�) �1�
ก��
��c�
��9�ก��4�กก��������������W6c�
�กd8:��5����88
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�4�
��̂��ก��
��c�
 �
���88���ก����8���������
������c�
�กd88ก��6�
5�����
�ก���19������ก�� 
��^���������	>�6����8�6��ก��4�ก���	�R�^9�]�� 2 ���	�R �^� �R�ก�S>�������8��
�	
����� �
�
��
>�5j�
�������^����5�� 1 ���� (5�9
 2 ���	�R��9��h����	�R�^9�]��41
��6���
�������	>�6�) �6�����	�R
5��5j�;	�c�
�กd8�����ก��9� �ก��4�กก��5����
���?��;�c�
��h��RXX�ก�0	�̂���
���?��;�c�
�W
กd
��� ��^���������	>�6����8�6��ก��4�ก���	�R�^9�]�� 2 ���	�R �^� ��
>�5j�
�������^����5�� 2 ���� 
�
���
>�	��;4���� �j�	��8���	�R�^9�]���̂��{5���j����W6ก�������	
��
���������
����9 �����R�
���;�����
5�� 10 

 
�j�	��8c�
�กd8ก��������ก���5j�ก���������	>	����	�Rก�������	
������\������ก����9 �8�6�

���	�Rก�������	
��
ก���	�^��ก�8���������
��5Rก���ก�� �ก�������	�R5��5j�;	��ก����
���
?��;�c�
�W
 5���ก��4�กก����8����ก����ก�W68����ก�08ก��6�
 :�������	�R�^9�]�� �^� 56�
��8����ก����ก�W68����ก�0��� �1�
��ก�6�
4�ก���������
�� ��
���
;�?��5�� 11 4�กก��
�������	>���	�Rก�������	
��
���������
���
�ก��������ก�8�6����	�R�^9�]��5��5j�;	��ก��
ก�������	
��
���5�9
 2 <�����9�ก��4�ก�R�ก�S>8ก��6�
 5�9
��9ก���������	>	����	�R�����5���� 
Fault Tree Analysis ��9� ���	�R�R�5���5���������	>��� 4����
������X
�ก2S>�
ก
��
���W65��
�6��
6�
�R���
5Rก{���	�R�6������ ����ก�6� ���	�R�^9�]�� :�����	�R�^9�]����
���������

���
�ก��������ก��94�cWก�j���;<�;�ก������
�j�c�� What If ��^��;<�;�ก����������������
	�̂�7
ก��585���ก���19��6��� 

 
2.  ก�������������� �����!�� What If 

 
���	�R�^9�]��5�����4�กก���������	>�����5���� Fault Tree Analysis cWก�j�������
�j�c�� 

What If ��^��;<�;�ก������������������
 :��ก���������;���6
����4����
��4��S� 4 ����
�6�����9 (1) ก����9
�j�c�� What If (2) �������	�̂�7
5��4��ก���19������ (3) ����ก�����
ก���
�
��8�R��������5������W6�����
� (4) ���������� �1�
7
ก�����������9��h���
����
7��ก5�� ก1-ก4 
;�?��7��ก ก 4�ก7
ก������������������
�8�6��j�c��5���ก���19���5�9
��9� 46 �j�c�� �86
��h� 22 
�j�c��5���ก��4�กc�
�กd8������
�� �
� 24 �j�c��5���ก��4�กc�
�กd8ก��������ก :���j�c����
c�

�กd8ก��������ก�	�^��ก�8���������
��5Rก���ก�� �ก����c�
�กd8ก��������ก�1�
��56���8��
�
���88��ก4�8��ก����ก�W68����ก�05��������19�5j�;	��j�c����
c�
�กd8ก��������ก��กก�6� 
���������
�� 
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@����� 10  ก���������	>	����	�Rก�������	
��
���������
����ก4�กc�
�กd8���� 2,300 �
� 6,283 
Wก8�0ก>���� �����5���� Fault Tree Analysis 
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@����� 11  ก���������	>	����	�Rก�������	
��
ก��������ก��ก4�กc�
�กd85���������56�ก�� 2 c�
 �^� 825 
Wก8�0ก>���� �����5���� Fault Tree Analysis 
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�������� 10  ���	�R�^9�]��5��5j�;	��ก��ก�������	
��
������
���
�ก��������ก��ก4�กc�
�กd8 
 

���	�R5��5j�;	�
�ก��ก�������	
 

���	�R�^9�]�� 
���������
�� ก��������ก 

�������
��c�
 - �R�ก�S>�������8��
�	
����� 
- �k��XX��4�
��̂������ 
- <R���8�R����� 
- ��
>���8�R����5�� 3 ���� 
- ��
>�5j�
�������^����5�� 1 ���� (�����6���) 

c�
�กd8���������ก - �R�ก�S>�����
������� - 56���8����ก����ก�W68����ก�0��� 
 - <R���8�R����� 

- ��
>���8�R����5�� 2 ���� 
- ��
>�5j�
�������^����5�� 2 ���� (������6���) 
- ��
>�	��;4���� 
- �R�ก�S>�������8��
�	
����� 
- <R���8�R����� 
- ��
>���8�R����5�� 3 ���� 
- ��
>�5j�
�������^����5�� 1 ���� (�����6���) 
- ��
>���8�R����5�� 1 ���� 
- ��
>�	��;4���� 

56�	�̂�56��6�� 
(Flexible Hose) 

- 56�	�̂�56��6�� (Flexible Hose) ���� 

 
����
5�� 11 �����R�4j�����j�c�� What If 	�̂�;�5����9����ก�6��	�Rก��S> ��
��6
�8����S

c�
�กd8�������:���86
�������8���������
 �1�
���
;	��	d��6�5�9
 4 8����S��6�8�	�Rก��S>5����
���������
�
dก���� (���������
����85�� 1) 5�9
��9 46 �	�Rก��S> 5����4��S���9�
����j����W6ก���ก���k
�	�� ก�����8���
�ก�������	
��
��������1�
��7
ก��58������
�6�8R��
 <R�<� ���
���
��� 
�
�5����>��� �6��;	X6�	�Rก��S>5���ก���19������������
����8 2 ��


���^� 3 �
� 4 ���
j���8 
:�����������
����8 4 ��5�9
��9� 6 �	�Rก��S> �1�
4�ก���8��8ก��:�

���R���	ก����6�����
	
�ก�กSV>ก��<�986
������� ก������������������
�
�ก��4��5j��7�
��8��	��4��ก�����������
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�.0. 2543 กj�	��;	�:�

�����
	�R��j�����ก�4ก���4�ก�6�4�������ก��
��
���8�R�����
�����
;	���W6;�����85����j�ก�6� :������
5�� 12 �����������ก��
��
���8�R����������
��
��6
�
8����Sc�
�กd8�������5�������������
����8 4 4��	d��6��j�c��5�� 1 �
�2 �ก���19�;�8����Sc�
�กd8���
������
��5�9
 2 c�
 5j�;	��ก�� 4 �	�Rก��S>5����h����������
����8 4 �1�
�j����W6ก��
Rก����k4�กก��
�����	
��
��� ��^�����������ก��
��
���8�R����������
;	�ก�8c�
�กd8��9 �8�6����������

�


�	
^� 2 ��̂��
4�ก����ก��5��������19�5j�;	�:�ก��;�ก���ก���	�Rก��S>
�

4�ก 3 �	
^� 1 ;��S�5��
�����R���
��
�
�56����� �j�	��8�j�c��5�� 3 �ก���19�;�8����Sc�
�กd8ก��������ก5�9
 2 c�
 5j�;	��ก�� 
2 �	�Rก��S>5����h����������
����8 4 �1�
�j����W6���������
��ก��5���ก��4�กก�������	
 ��^�������
����ก��
��
���8�R����������
 �8�6����������

�

�	
^� 2 ��̂��
4�ก����ก��5��������19�5j�;	�
:�ก��;�ก���ก���	�Rก��S>
�

4�ก 3 �	
^� 1 ;��S�5�������R���
��
�
�56����� 4��	d��6�
����ก������5������W6;��344R8����
5�9
 6 �	�Rก��S>��9��
��6����
�� ��
��9�7W���4��������������ก��
�
���������
 �^� กj�	���7�ก�����4��8ก�������	
��
���������
��������56� ��	�6�
	���
��
� �
��?���^9�5��8����Sc�
�กd8ก��������ก �j�	��8����ก����8�R�5������� �^� กj�	��
�7�ก�����4��8����8��
�	
�;�c�
�กd8���������6�
���j����� �
��S�
�>;	����ก
��;�6
	���ก�ก���
ก�����������8����S5����������̂�� �1�
����ก��5���������95j�;	����������

�

�	
^�
����8 2 �1�
�����8��� �j�	��8����8���������
�̂��{�����������ก��
��
���8�R����������
��

��R����;�����
7��ก5�� �1 ;�?��7��ก � 

 

�������� 11  ��R�7
ก������������������
��
c�
�กd8���������
�� �
�ก��������ก 
 

8����S �j�c�� What If 
(4j����) 

����8���������
 

1 2 3 4 
1. c�
�กd8������
������ 2,300 
8.�. 11 0 7 2 2 
2. c�
�กd8������
������ 6,283 
8.�. 11 0 7 2 2 
3. c�
�กd8ก��������ก���� 825 
8.�. c�
5�� 1 12 0 6 5 1 
4. c�
�กd8ก��������ก���� 825 
8.�. c�
5�� 2 12 0 6 5 1 

��� 46 0 26 14 6 
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�������� 12  ����ก��
��
���8�R����������
5������������������8���������
����5����W6;�����8 4 ��
c�
�กd8���������
���
�ก��������ก 
 
�j�c�� What If 5�� 

8����S5�������8
7
ก��58 

����ก������ 
:�ก��
���� 

����
�R���

���� 

����8
����

�����
���� 

����ก��;	�6 :�ก��
;	�6 

����
�R���

;	�6 

����8
���������


;	�6 

����������
 ��8�R����������
 

1.  4��ก�������19�
c����
���<̂���
	�̂�
�����
?��;� ��^���
ก�9�������� 
(Dike) 

 

c�
�กd8������

��5�9
 2 c�
 

- ����88ก������RX��
����5j�
���j�	��8
��
5��ก6�;	��ก�����ก��
�k �
���ก�����4�W
��������8����ก6��
�
�	
�
;	�5j�
�� 

- ��ก�������9
�R�ก�S>
���44�8����������� 
�
��4�
��^����5��
	��
��8�R� (Control 
Room) :��5����ก��
���4��8�R�ก�S>
��6�
���j����� 

3 4 4 กj�	���7�ก��
���4��8ก��
�����	
��
���
������
�����
���56� 

กj�	���7�ก��
���4��8����8
��
�	
�;�c�

��6�
���j����� 

1 4 2 
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�������� 12  (�6�) 
 
�j�c�� What If 5�� 

8����S5�������8
7
ก��58 

����ก������ 
:�ก��
���� 

����
�R���

���� 

����8
����

�����
���� 

����ก��;	�6 :�ก��
;	�6 

����
�R���

;	�6 

����8
���������


;	�6 

����������
 ��8�R����������
 

2.  4��ก�������19�
c���S�5j�ก��
�6
���������

����
ก��8��ก��
7
����ก��
�����	
��

������
��
�ก���19���	�6�

	�����
�:��
5����88������
�
�ก���6���ก
��
c�
�กd8���
������
��8ก
��6�
 

c�
�กd8������

��5�9
 2 c�
 
 
 
 
 
 
 
 
 

- ���7�ก�����4��8
��88�������
�ก��
�6���ก;	�����
����5����6�ก�� 5 
:�	>� 

 
 
 
 
 

3 
 
 
 
 
 
 
 
 
 

4 
 
 
 
 
 
 
 
 
 

4 
 
 
 
 
 
 
 
 
 

กj�	���7�ก��
���4��8ก��
�����	
��
���
������
����	�6�

	�����
� 
 
 
 
 
 

กj�	���7�ก��
���4��8����8
��
�	
�;�c�

��6�
���j����� 
 
 
 
 
 
 

1 
 
 
 
 
 
 
 
 
 

4 
 
 
 
 
 
 
 
 
 

2 
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�������� 12  (�6�) 
 
�j�c�� What If 5�� 

8����S5�������8
7
ก��58 

����ก������ 
:�ก��
���� 

����
�R���

���� 

����8
����

�����
���� 

����ก��;	�6 :�ก��
;	�6 

����
�R���

;	�6 

����8
���������


;	�6 

����������
 ��8�R����������
 

3.  4��ก�������19�
c��ก��������ก
�����	
��ก4�ก
c�
 �<6� ��ก
4�ก��
>� 56�
�6�� (Flexible 
Hose) �
�
���ก
���W���
ก��������ก 

c�
�กd8ก����
����ก5�9
 2 c�
 

- ��������^��;	�
���ก
��;�6	���ก�ก
���
ก����������� 

- ��9����ก�����8���
��
;�ก�����4	���
��
กj�	��;	����
���;�6
	���ก�ก���
ก����
������� 

3 4 4 กj�	���7�ก��
���4��8�?��
�̂9�5��8����Sc�
�กd8
ก��������ก 

�S�
�>;	�
���ก
��;�6
	���ก�ก���
ก��
���������8����S
5����������^�� 

1 4 2 
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3.  ก����������[;���������!�
:9�ก���:7�กก���
�������� ������ 

 
4�ก7
ก������������������
���� What If Analysis ;�8����Sc�
�กd8���������
���
�

ก��������ก�8�6����	�Rก��S>5�9
	�� 46 �	�Rก��S> 5���j����W6ก�������	
��
�������5�9
 2 <�����9 
5�9
��9�� 6 �	�Rก��S>5�������������
����8 4 �1�
����8:�ก���
������R���
���6��W
 :���������5��
�ก���19�4�กก�������	
 �^� ก���ก�����8���888
��� ก��
Rก����k�
���6
Rก����k ��6�
��กd���ก��
�ก�����8���888
���5���ก��4�กก�������	
��
���5�9
 2 <�����9 ��h��������5���ก��4�ก�	�Rก��S>5����
:�ก��;�ก���ก����ก��ก ��
��9�41
��64j���h����
01ก2�7
ก��58��
���������9 �j�	��8ก�������	

��
���������
����9� �8�6��:
=�;	�����W
5���6��<^��c^�����y���ก�������	
�88
Rก����k�56���9� 
��6;	�����W
5����6�6��<^��c^��j�	��8ก�������	
�88��6
Rก����k������^9�5��5�������87
ก��58������
�
dก�ก�� (Dandrieux, 2002) �1�
�ก����̂��
4�ก���������
��	��กก�6���ก�0 �6��ก�������	
��

ก��������ก��9� �8�6��:
=������c�������	>�y����885����6
Rก����k����56���9� ���������
���������
��ก��;�8����ก�0��9���6���6�W
��ก��4�5j�;	��ก��ก��
Rก����k��� 7
ก��585���ก��
4�กก�������	
��
���5�9
 2 <�����9�����c�ก���ก6:�

��5����h��4����
c�
�กd8�������5�������	
 
:�

�����
����
�
�<R�<�����������5\��
��

� �?�����ก�0 �
��?���^9���� :���8�6�
�?���5����̂9�;	��ก��7
ก��58��h��
ก���
��ก�^� ������d�
�5����j� �
��?�����ก�05������c���?�� 
(Crowl, 2002)  

 
��
��9�;�
����4����941
�������	>�^9�5��5�������87
ก��584�กก�������	
��
���������
��

�
�ก��������ก��ก4�กc�
�กd8��
:�

���	6
	�1�
 :��;<�:���ก���:
=�?��;����5\��
��

5�05�

��
�<6�
��
�5���ก��ก�������	
 5�9
��9�����;4ก��
Rก����k4�ก���������
�� �
�
�������4�ก��ก��5��ก6�;	��ก��7
�����6��R�?�� ��
��9 

 
3.1  ก�������	
��
���������
�� 
 

4�ก������5������������;�:���ก���:
=� :���ก����
ก
6�������8R�6���������� 3 
ก�S�5����4�ก���19���� �^� ก�������	
5����6
Rก����k ก���ก�����8���888
����
�ก�������	
5��
Rก���
�k:��ก�S�ก�������	
5����6
Rก����k�
�ก���ก�����8���888
���4���65j�ก���������	>�1�
���ก
6��
����
�����
��� ��6�
��กd����y���ก�S�ก�������	
5��
Rก����k�56���9�5�����5j�ก���������	>����
:���ก���:
=� 
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4�กก���������	>ก��
Rก����k��
���������
��5�������	
��ก4�กc�
�กd8 2 ����
����:���ก���:
=�:��5�05�

�5��;<��^�5�0�	�̂� �8�6��ก��ก�����6ก��4����
k
�ก�>����
����5�������6�
{ ��
���
;�?��5�� 12 :��5���6�k
�ก�>��������	�1�
{ ������
�^9�5��5�������8
7
ก��58���6�������19���������S��
�������;�c�
�กd85��������19� ��ก4�ก��9;�kR����9�5>4��86

8����S7
ก��58���k
�ก�>��������5�������8��h� 3 8����S �^� 10 kW/m2 5��5j�;	���:�ก��
����<����?��;� 60 ����5� 5 kW/m2 5��5j�;	��ก���7
�k�	������8 2 ?��;� 60 ����5� �
� 2 kW/m2 
5��ก6�;	��ก����ก�������8���������
7��	��
?��;� 60 ����5� (Federal Emergency 
Management Agency, 1988) �j�	��8;�5�05�

��̂��{ �
�<6�
��
�5���ก��ก�������	
 kR����9�5>5��
�����
�ก2S��	�^��ก��5Rก���ก�� 

 

 
 
   (ก)         (�) 
 

 
 

@����� 12  kR����9�5>��
ก���76��
���������� (k
�ก�>, kW/m2) 5���ก��4�กก��
Rก����k��
��� 
                 ������
��5�������	
��ก4�กc�
�กd8���� (ก) 2,300 �
� (�) 6,283 m3 ��^��
������4�ก 
                 5�0�	�̂� 

 
��^���j�?��kR����9�5>ก���76��
������������9 ����
8��7�5����
:�

��5��

5j�ก��01ก2� (?��5�� 13) 5j�;	�5��8c1
����?5�^9�5��5�������87
ก��584�ก�6�k
�ก�>��������
�6�
{ :���^9�5��?��;��
ก
�����
	���c1
 �^9�5��5�������87
ก��584�ก�6�k
�ก�>�������� 10 
kW/m2 �^9�5����	�6�
�
ก
�����
ก�8�����	���c1
 �^9�5��5�������87
ก��584�ก�6�k
�ก�>�������� 
5 kW/m2 �
��^9�5����	�6�
�
ก
������ก�8���	
^�
	���c1
 �^9�5��5�������87
ก��584�ก�6�k
�ก�>
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�������� 2 kW/m2 :���^9�5��5�������87
ก��584�ก�6�k
�ก�>���������6�
{��9 �����R����;�����

5�� 13 �
�� ��^���������	>�^9�5��5�������87
ก��584�ก�6�k
�ก�>�������� 2 kW/m2 	�̂��W
ก�6�5��
ก6�;	��ก����������6���R2�>5����6�����ck���kW����8�6��^9�5��5�������87
ก��584�ก�6�k
�ก�>����
�����^� �^9�5��8����S4���กd8�������ก6��
j��
��
�����W6ก��8��ก��7
���
��^9�5���̂��{��
:�

��5��
01ก2��
�:�

�����
����
�56���9�:����6�6
7
ก��58��9�6�<R�<� ��
��9�ก��01ก2���941
5j�;	�5��8
�6�:�

��5���กd8���������
����9 4j���h���6�
���
5�����
����
��ก�8����ก��5������W6;��344R8���
�5�� 

 

 
 

(ก) 
 

 
 

(�) 

 

@����� 13  �7�5��4�ก Google Earth ���
8����S�^9�5��5�������87
ก��584�กก���76��
���������� 
                4�กก��
Rก����k��
���������
��5�������	
��ก4�กc�
�กd8���� (ก) 2,300 �
� (�)  
                6,283 m3 (4R�0W��>ก
�
�
ก
� �^� 8����S5���ก���	�R:���^9�5���
ก
��
�8�
R�:�

��5�� 
                01ก2� �^9�5����ก�����h�:�

�����
����
) 

:�

�����
����
 

:�

�����
����
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���
�������������^��
�����8���������
 �
��ก���
���ก
����
:�

������
�
�;ก
�����
 �1�
��h�
7W�5��4������8�������4�กก�������	
��9��ก5���R� 

 
�������� 13  �^9�5��5�������87
ก��584�กก���76��
������������̂��
4�กก��
Rก����k��
��� 
                    ������
��5�������	
��ก4�กc�
�กd8 2 ���� 
 
����������
ก���76

��
���������� 
(ก�:
����>�6���.�.) 

c�
�กd8����
��
������ 
(
8.�.) 

��0�� 
(����) 

�^9�5��5�������87
ก��581 

10 2,300 
6,283 

31 
70 

�^9�5���กd8������� 
�^9�5���กd8������� �
���9���
:�

��
���
����
 

5 2,300 
 

6,283 

46 
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�^9�5����9�ก��8��ก��7
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��5��
01ก2� 
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ก��������ก 
 

4�ก������5������������;�:���ก���:
=� :���ก����
ก
6�������8R�6���������� 3 
ก�S�5����4�ก���19���� �^� ก�������	
5����6
Rก����k ก���ก�����8���888
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�ก�������	
5��
Rก���
�k :��ก�S�ก�������	
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���ก
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Rก����k��9 �8�6�5�9
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�5���ก��ก�������	
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�
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�5�05�
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�6�ก�����6ก��4����
��ก��5�9
��9� :�������
��������
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4�กก���������	>ก�������	
5����6
Rก����k��
ก��������ก��ก4�กc�
�กd8;�<6�
��
�

ก
�
����
�ก
�
�^� ����:���ก���:
=� 7
5������^�kR����9�5>5�����
;�?��5�� 14 �1�
����86

8����S7
ก��58����������������
��ก��5�������8��ก��h� 3 8����S �^� 8����S5�������8����
���������
��ก�� (1) 250 ������d�	�̂��W
ก�6��1�
�ก��7
ก��58�R���
�6��R�?��	�̂�����<������� 
(2) 35 ������d�5��ก6�;	��ก��7
�����6��R�?��5��5j�;	���6�����ck���kW;	�ก
�8���	�^��������� �
� 
(3) 5 ������d�5��5j�;	��6�
ก���������^�
�
dก���� (U.S. Department of Energy, 1992) 
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�
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4�5j�;	��^9�5��5�������87
ก��58�6���ก��5����6
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�
��� ��̂��
4�ก
��c���?����
8����ก�0;���
�ก
�
�^���กก�6�ก
�
��� ��
��9���^��;	��	d�c1
�^9�5��5�������8
7
ก��584�ก��ก��������8�
R� ;�ก��01ก2���5\��
5���ก��4�ก5�05�

�5��4�ก
6��c1
�6��� 
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��ก���	�R��h���
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�
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@����� 14  kR����9�5>���
ก��ก��4���������������
��ก��5���ก��4�กก�������	
��
 
                 ก��������ก��ก4�กc�
�กd8���� 825 m3 5���ก���19�;���
� (ก) ก
�
��� �
�  
                 (�) ก
�
�^� 5�9
��9����86
����8�������������ก��h� 3 ����8���7
ก��58�6��R�?�� 
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��ก4�ก<6�
��
�5���ก��ก�������	
�1�
��7
�6�ก�����6ก��4����
��ก���
�� 5�05�


�5�����76��4R��ก���	�R��
��7
������
���
;�?��5�� 15 �1�
��h�ก�������	
��
ก��������ก ��ก
4�กc�
�กd8  ?��;����5\��
��
5�05�

�5�9
 8 5�0 ���
;	��	d��6���6���^9�5��;�5�������8��5\��
��


���กก�6� 1 5�0 ��6�
��กd����^9�5��5����W6;��
ก
���9
�����h��^9�5��5����:�ก�������8�������4�ก 
��ก����95�������<^������ 95% �
��^9�5��5����W6;�8����S��
�
����
5�05�

�	�1�
{ �^� �^9�5��5��
�����87
ก��584�ก��ก����6�
��6��� ��ก4�ก��94��	d��6�;�5Rก5�05�

�5��01ก2���9 �y���
:�

��5��01ก2��
�:�

��;ก
�����
�56���9�5�������8�������������
��ก��;�����85����h��������
5j�;	�c1
���	�̂��6�
ก����6�����cก
�8�^��W6�?���ก����� (> 35 ������d�) ;��S�5��<R�<�5����W6
	6�
��ก������8��������6��R�?��5�������8��h�����8��j�5���6�
ก�������cก
�8�^��W6�?���ก�����
:����6���
��ก����ก2� (5 � 34 ������d�) �j�	��8�^9�5��5�������87
ก��584�ก������������6�
{��

��ก�����
��
����
5�� 14 
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�
�^��56���9� (�
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ก
����
c1
�^9�5��5�������87
ก��584�ก��ก�� 
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ก��584�ก�������������
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�
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�
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�
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�5��;�6;	�:���ก���^� 0.26 �����6�����5� 5�9
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� 
                  ก
�
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�
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4.  ก���������9�ก���:7�กก���Sก����e���a
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Rก����k 5�9
��9��6���	�Rก��S>5���j����W6ก��
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ก��������ก 
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=�������
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ก��������ก��h��88��6
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Rก���
�k��� ��
��9�;�
����4����941
�������	>7
ก��585���ก���19�4�กก��
Rก����k��
c�
�กd8������
��
�56���9� :��;<�:���ก�� FDS ?��;����5\��
��
5�05�
�
�������d�
��6�
{ �1�
7
ก��58��9
�����c�86
��h� 3 �6���^� 7
ก��584�ก�������� ���>8������ก���> �
����>8�����
��ก���>5���ก��4�กก��
Rก����k��
������
��:��7
5�������h���
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4.1  7
ก��584�ก��������5���ก��4�กก��
Rก����k��
������
�� 
 

4�ก�������	>7
ก��585���ก���19�:��;<�:���ก�� FDS �8�6��������5���ก���19�4�ก
ก��
Rก����k��
c�
�กd8���������
��5�9
 2 c�
 �^� �RS	?W���������� กl�����>8������ก���> 
�
�กl�����>8������ก���> :���������5���ก���19���
c�
�กd85�9
 2 <�����
�ก2S��	�^��ก�� ��6
ก��
Rก����k��
c�
�กd8���� 6,283 
Wก8�0ก>���� 5j�;	��ก���������5��ก6�;	��ก��7
ก��58
��กก�6�c�
�กd8���� 2,300 
Wก8�0ก>���� ��̂��
4�ก�^9�5������8�c�
�กd85��
Rก����k��������กก�6� 
��
��9���^��;	��	d�7
ก��584�กก��
Rก����k�����ก5���R� ;�ก��01ก2��������5���ก���19�4�กก��
Rก
����k5��4�ก
6��c1
�6���41
กj�	��;	��ก��ก��
Rก����k5��c�
�กd8���� 6,283 
Wก8�0ก>�����56���9� 

 
4�ก������5������������;�:���ก�� FDS :��กj�	��������
�;�ก���j���S  

180 ����5� ������d��
�5�05�

��6�
{ �8�6�:���ก����
ก
6�����;	�7
ก���j���S���<6�
��
�
5��กj�	����
?��5�� 16 ������
;	��	d���6�
<���4��6�ก��
Rก����k��
���������
��;�c�
�กd84�
����������W6�?����
��� (Steady State) ��9
��6����5�5�� 25 ��h������ ;�ก��01ก2�7
ก��585���ก���19�
4�กก��
Rก����k��
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�กd8������
�� ?��;����5\��
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5�05�
�
�������d�
�5��4�ก
6��c1

�6��� ������
������
�ก��
Rก����k;�����5�5�� 25 �56���9� �����ก�������W6�?����
���5j�;	�

�ก2S���
�k5���ก���19���6��
������

 

 
4�กก���������	>ก��
Rก����k��
c�
�กd8���������
������ 6,283 
Wก8�0ก>���� 

����:���ก�� FDS :��กj�	��5�05�

�;	������5�
5�0�������ก����������d� 0.26 �����6�
����5� (������d�
�����5���R�) �8�6���������5���ก��4�
���19�����8���
c�
�กd8��� ��^����
����
������d�
���h� 0.5 �����6�����5� (������d�
��y
���) �8�6���������5���ก��4�
���19�����8� 
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        (4)             (y) 
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                 6,283 m3 ;�<6�
��
� 180 ����5� (ก) :��ก��
Rก����k��
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                 10 (�) 20 (
) 25 (4) 60 �
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�<6������ก�� ��6��^����
����������d�
���h� 1.18 �����6�����5� (������d�
���ก5���R�) �8�6�����
����4�cWก�������5�05�
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4�ก4R�ก1�
ก
�
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c�
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;�8����S
;ก
�c�
�กd8��� �
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�
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��ก�� ��ก4�ก��9�8�6���
��k5���ก���19�cWก�������
���5�05�

�5��กj�	����ก���� ��^���������	>c1
7
ก��584�ก��������5���ก���19�4��	d��6� 
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ก��58�6��^9�5��8����Sc�
�กd8�������ก6��
j��
��
�����W6ก��8��ก��7
�� :����6��
7
ก��58�6�:�

�����
����
�
�<R�<� �j�	��8;�5�05�
�
�������d�
��̂��{ ���;	�7
 
ก���j���S�	�^��ก�85��ก
6�������
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@����� 17  �RS	?W����
��������5���ก���19�4�กก��
Rก����k��
c�
�กd8���������
������  
                 6,283 m3 :��
������5�
5�0�������ก5��������d� (ก) 0.26 (�) 0.5 �
� (�) 1.18 m/s 
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1�j�	��8c�
5��5j�4�ก���>8�����
 (Carbon Steel) �RS	?W��5��ก6�;	��ก����������	���6�:��
����
�^� 330 �
0���
����� �j�	��8c�
5�� 
5j�4�ก�����
����
 (Stainless Steel) �RS	?W��5��ก6�;	��ก������ ����	���6�:��
����
�^� 100 �
0���
����� ;�5����9�RS	?W��5��
ก6�;	��ก����������	���6�:��
����
	���c1
 �RS	?W��5��5j�;	�������d
��
��
:��
����

�

 20% (ESDEP, 1993) 

��^��c�
�กd8���������
������ 6,283 
Wก8�0ก>����
Rก����k5��5�05�
�
�������d�

��6�
{ �8�6���������5���ก���19�4�กก��
Rก����k��
c�
�กd8��95j�;	�c�
�กd8���������
������ 
2,300 
Wก8�0ก>���� 5��5j�4�ก���>8�����
5����9
��W6c�����ก����������	���6�:��
����
c�
��9
��6
��5�5�� 20 ��h������ ������RS	?W��5����
���
ก
6�����6� 330 �
0���
�����1 �
�5j�;	�c�
�กd8
ก��������ก5�9
 2 c�
 5��5j�4�ก�����
����
�
���9
��W6	6�
��ก�19��ก�����������6�:��
����
��

c�
��9
��6��5�5�� 8 ��h������ ������RS	?W��5����
���
ก
6�����6� 100 �
0���
�����1 ��
���
;�?��
5�� 18 

 

  
 
                 (ก)           (�) 

 
@����� 18  �RS	?W����
��������5���ก���19�4�กก��
Rก����k��
c�
�กd8���������
������  
                 6,283 m3 ;���5�5�� (ก) 20 (�) 8 :��
������5�
5�0�������ก5��������d� 1.18 m/s  
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4.2  7
ก��584�ก���>8������ก���>5���ก��4�กก��
Rก����k��
������
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4�กก���������	>ก��
Rก����k��
c�
�กd8���������
������ 6,283 
Wก8�0ก>����
����:���ก�� FDS :��กj�	��5�05�

�;	�
������5�
5�0�������ก����������d� 0.26 ����
�6�����5� (������d�
�����5���R�) �8�6��������������
���>8������ก���>5���ก���19�4�
���19�
����8���
c�
�กd8��� ��^����
����������d�
���h� 0.5 �����6�����5� (������d�
��y
���) �8�6�
�������������
���>8������ก���>5���ก���19�4�
���19�����8��<6������ก�� ��6��^����
����
������d�
���h� 1.18 �����6�����5� (������d�
���ก5���R�) �8�6��������������

���>8������ก���>4�cWก�������5�05�
��

���6��
��6��ก	6�
4�ก4R�ก1�
ก
�
��
c�
 ��

���
;�?��5�� 19 4��	d��6��������������
���>8������ก���>5���ก���19�4�กก��
Rก����k��
c�

�กd8���������
����9 ��������������W
8����S;ก
�c�
�กd8��� �
�4�
�

��^��������	6�
��ก�� 

 
���5��ก��5��
�	���5����กj�	������]���������������
���>8������ก���>

;�8����ก�05����5j�
��;	���6�ก�� 5,000 ������d� 	�̂� 0.005 :�
�6�:�
 ��9� �8�6�;��c��ก��S>5��
5�05�

������5�
5�0�������ก����������d�
�����5���R� �y
��� �
��W
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���
������
��?��;� ��^���
ก�9�������� (Dike) �1�

��h���������6��R�?��
��
���ก
�� �
�c����
���ก���k4��ก���k�	��
��� 

- ก�S���8846��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� (Field 
Operator) ������
>�
5j�
�������̂� (Manual 
Valve) 	����
� 9 
(?��5�� 7) ��̂��;	�
��:���4�����c�
 

- �����ก��
���4��8��
>�
	��;4 (Breather 
Valve) ��h����4j� 

1 3 3 2 4 4 2 
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�����9��ก��� ก1  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

  - ��ก�������9
�ก4���
��
��� (Pressure 
Gauge) �	�^���
�	
�
;�c�
�
���ก���4�

��^�����ก
�����4j�
	��
��8�R� 
(Boardman) c����
���
;�c�
7���ก�� �
���
�7�ก�����4��8
�R�ก�S>�6�
{ 
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�����9��ก��� ก1  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

3.  4��ก�������19�c��
��88��8��
��:���4���ก
4�กc�
5��5j�
��
���:������
�
��
>�	��;4
(Breather Valve) 
<j��R������ก��
�S�5����ก����8
���������
��
����c�
 

- ��
���?��;�c�
5���W
5��
�ก��4�กก���	
������
��
������
��5j�;	�c�

��ก �ก��ก�������	
��

���������
��?��;� 
��^���ก�9�������� (Dike) 
�1�
��h���������6�
�R�?����
���ก
�� 
�
�c�������ก���k4�
�ก���k�	����� 

- ก�S���88��8��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� 
(Field Operator) ���
��
>�5j�
�������̂� 
(Manual Valve) 
	����
� 8 (?��5�� 7) 
��̂��	�R�ก����8���
������
�� 

- �����ก��
���4��8��
>�
	��;4 (Breather 
Valve) ��h����4j� 

1 3 3 2 4 4 2 
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�����9��ก��� ก1  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

  - ��ก�������9
�ก4���
��
��� (Pressure 
Gauge) �	�^���
�	
�
;�c�
�
���ก���4�

��^�����ก
�����4j�
	��
��8�R� 
(Boardman) c����
���
;�c�
7���ก�� �
���
�7�ก�����4��8
�R�ก�S>�6�
{ 
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�����9��ก��� ก1  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

4.  4��ก�������19�c��
k��76�

5��c�
�กd8
���������
�� 
�
���88������
<j��R�  

- c������ก���4�������;�c�

4�5j�;	�c�
�ก���k�	�� 
���ก
�������88���4d8 
c�
�กd8�
��R�ก�S>�6�
{
����	�� ��ก4�ก��9�����
�k��
�6
7
ก��58�6�
<R�<�;ก
�����
���� 

- ���7�ก�����4��8
��88������;	�����
����5����6�ก�� 5 
:�	>� 

- 1 2 3 2 4 4 2 

5.  4��ก�������19�c��
�����ก
��	�̂�
7W���8�	���W88R	���
?��;� ��^���ก�9�
������� (Dike)  

- c����ก�������	
��
���
������
�� ��4�ก���k
�	�� ���ก
�������8
8���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ��ก������
��?�� ����
��^��	����j��R�ก�S>4R�
�k �
�8R	���������;�
ก��8��ก��7
�� :��
��ก�����4���4�ก��?. 

- 1 2 3 2 4 4 2 
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�����9��ก��� ก1  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

6.  4��ก�������19�c��
��
���<̂���	�̂�

�����?��;� 
��^���ก�9�������� 
(Dike) 

- c����ก�������	
��
���
������
�� ��4�ก���k
�	�� ���ก
�������8
8���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ����88ก������RX��
����5j�
���j�	��8
��5��
ก6�;	��ก�����ก���k 
�
���ก�����4�W����
����8����ก6���
�	
�

;	�5j�
�� 

- ��ก�������9
�R�ก�S>
���44�8����������� 
�
��4�
��^����5��
	��
��8�R� (Control 
Room) :��5����ก��
���4��8�R�ก�S>��6�

���j����� 

- �����ก��
���4��8ก��
�����	
��
���
������
�����
���56� �
�����8
��
�	
�;�c�

��6�
���j����� 

3 2 3 2 4 12 4 
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�����9��ก��� ก1  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

7.  4��ก�������19�c��
���������
��
�����	
��ก4�กc�
 
�<6� ��ก4�ก��
>� 
56��6�� (Flexible 
Hose) �
�
���ก
���W���
���������
��  

 

- �ก����ก�����0��2� 
�
̂����� ���4��� �
�
	�����c���W���5������
���������ก 

- �̂9�5��c�
�กd8���������

����������^��;	�
���ก
��;�6	���ก�ก
���
ก����������� 

- ��9����ก�����8���
��
;�ก�����4	���
��
กj�	��;	����
���;�6
	���ก�ก���
ก����
������� 

- ���c���8�
�
�
���8�
�����������
�
�� 24 <���:�
��̂��
�]����8�
�
��j�
7W������6
:�
���8�
 

- �S�
�>;	�
���ก
��;�6
	���ก�ก���
ก��
���������8����S
5����������^�� 

- ������7�ก��
���4��8�?��
�̂9�5��8����Sc�
�กd8
���������
�� 

3 2 2 1 1 6 2 
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�����9��ก��� ก1  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

8.  4��ก�������19�c��
�S�5j�ก���6
���
������
����
ก��8��ก��7
��
��ก�������	
��

������
���ก���19�
��	�6�
	���
��
�:��5����88
�������
�ก���6�
��ก��
c�
�กd8
���������
��8ก
��6�
 

- �ก���kk���c���>5j�;	��ก��
�k�	�� ���ก
�������8
8���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ���7�ก�����4��8
��88�������
�ก��
�6���ก;	�����
����5����6�ก�� 5 
:�	>� 

 

- ������7�ก��
���4��8ก��
�����	
��
���
������
��
��	�6�
	���
��
� �
�����8
��
�	
�;�c�

��6�
���j����� 

3 2 3 2 4 12 4 
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�����9��ก��� ก1  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

9.  4��ก�������19�c��
�S������������
��
���R�ก�S>���
����8��
�	
�
<j��R� 

- ������
��
��c�
�
�
�����	
?��;���^���ก�9�
������� (Dike) �1�
��h�
��������6��R�?����

���ก
�� �
�c����
���ก���k4��ก���k
�	����� 

-���7�yRก�y��ก���6
���
������
��5��	ก�����	

?��;���^���ก�9�������� 
(Dike) 76��5�
��

��8����̂���6
��กj�4��5��
��888j�8���9j����� 

- ���7�ก��8j��R
��ก2�
�<�
���
ก��ก�8�R�ก�S>
�������8��
�	
� 

- �����ก�����4��8
��
��8��5���6
���
������
����
��888j�8���9j�����
��̂�����
ก��ก���R�
��� 

- �����ก����4��S�
�j����������
��5��
	ก�����	
�6
��
8��2�55����8�������
 
�
���ก���������	>
�����R��5R���̂��
�5��8ก�8ก��8j�8��
��
5����888j�8���9j�
���� 

2 3 3 2 4 8 3 
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�����9��ก��� ก1  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

10.  4��ก�������19�c��
���������
��
�����	
��ก4�ก
c�
 �<6� ��ก4�ก
��
>� 56��6�� 
(Flexible Hose) 
:��5����88�4�

��^��ก�������	

���� 

- c�����ก
���W������
������
��4���h�
��������6��R�?�� �
�
c�������ก���k4��ก���k
�	����� 

- ���ก
������7
�� (Field 
Operator) ��ก�����4
	���
��5Rก 6 <���:�
 

- ��ก�����4��8��88
�4�
���̂��������
�����	
��6�
���j����� 

- 2 2 3 2 4 8 3 
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�����9��ก��� ก1  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

11.  4��ก�������19�c��
c�
�กd8�������
��
�������8ก��
�76��
����������
4�ก�k�	��
8����S;ก
�����
 

- c�
�����8���������1�
c��
��ก4�ก6�;	��ก������
����	���6�:��
����

��
c�
 5j�;	�c�
��ก �
�
��4�ก��8
��� (BLEVE) 
5j�;	����ก
�������8
8���4d8 c�
�
��R�ก�S>
�6�
{����	�� <R�<��
�
���
���
��������8
7
ก��584�ก��
���8�� 

- ��	��y���9j���8��
�
<���
��W6ก�85�� (Fire Fixed 
Type Monitor) �
�56�
�6
�9j���8��
�
�����
���y���j�	��8
�����
���� �
���ก��
���4��8��^��
� 1 
���9
 

- ��ก�������7�yRก�y��
ก�S��ก��ก�������	

��
���������
��
�
�
Rก����k��
� 4 
���9
 

- 1 4 3 2 4 4 2 
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�����9��ก��� ก2  7
ก��<�986
��������
�ก������������������
8����Sc�
�กd8���������
������ 6,283 
Wก8�0ก>���� ������\� What If Analysis 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

1.  4��ก�������19�c��
��88ก��46��
��:���4�����c�

�กd8������
��5��
5j�
�����:�����
<j��R� �S�5����ก��
�6
���������
��
��5��ก��8��ก��
7
�� 

 

- ��ก���4�;�8����ก�0 
�����W6c�
5�
��
>�	��;4
(Breather Valve)  5j�;	�
��ก���4�;�c�
�W
�19� c��
�����ก���k 4�5j�;	�c�

�ก���k�	�� ���ก
��
�����88���4d8 c�
�กd8
�
��R�ก�S>�6�
{
����	�� ��ก4�ก��9�����
�k��
�6
7
ก��58�6�
<R�<�;ก
�����
���� 

- ก�S���8846��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� 
(Field Operator) ����
��
>�5j�
�������̂� 
(Manual Valve) 
	����
� 9 (?��5�� 7) 
��̂��;	���:���4�����c�
 

- �����ก��
���4��8��88
ก��46����:���4�
����c�
�กd8������

��5��5j�
��
���:�������h�
���4j� 

1 2 3 2 4 4 2 
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�����9��ก��� ก2  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

2.  4��ก�������19�c��
��88ก��46��
��:���4�����c�
5��
5j�
�����:�����
�
���
>�	��;4
(Breather Valve) 
<j��R��S�5����ก��
�6
���������
��
��5��ก��8��ก��
7
�� 

- ��
���?��;�c�
��h�
�RXX�ก�0 5j�;	�c�
�R8
�ก��ก�������	
��
���
������
��?��;� ��^���
ก�9�������� (Dike) �1�

��h���������6��R�?��
��
���ก
�� �
�c����
���ก���k4��ก���k�	��
��� 

- ก�S���8846��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� (Field 
Operator) ������
>�
5j�
�������̂� (Manual 
Valve) 	����
� 9 
(?��5�� 7) ��̂��;	�
��:���4�����c�
 

- �����ก��
���4��8��
>�
	��;4 (Breather 
Valve) ��h����4j� 

1 3 3 2 4 4 2 
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�����9��ก��� ก2  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

  - ��ก�������9
�ก4���
��
��� (Pressure 
Gauge) �	�^���
�	
�
;�c�
�
���ก���4�

��^�����ก
�����4j�
	��
��8�R� 
(Boardman) c����
���
;�c�
7���ก�� �
���
�7�ก�����4��8
�R�ก�S>�6�
{ 
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�����9��ก��� ก2  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

3.  4��ก�������19�c��
��88��8��
��:���4���ก
4�กc�
5��5j�
��
���:������
�
��
>�	��;4
(Breather Valve) 
<j��R������ก��
�S�5����ก����8
���������
��
����c�
 

- ��
���?��;�c�
5���W
5��
�ก��4�กก���	
������
��
������
��5j�;	�c�

��ก �ก��ก�������	
��

���������
��?��;� 
��^���ก�9�������� (Dike) 
�1�
��h���������6�
�R�?����
���ก
�� 
�
�c�������ก���k4�
�ก���k�	����� 

- ก�S���88��8��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� 
(Field Operator) ���
��
>�5j�
�������̂� 
(Manual Valve) 
	����
� 8 (?��5�� 7) 
��̂��	�R�ก����8���
������
�� 

- �����ก��
���4��8��
>�
	��;4 (Breather 
Valve) ��h����4j� 

1 3 3 2 4 4 2 
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�����9��ก��� ก2  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

  - ��ก�������9
�ก4���
��
��� (Pressure 
Gauge) �	�^���
�	
�
;�c�
�
���ก���4�

��^�����ก
�����4j�
	��
��8�R� 
(Boardman) c����
���
;�c�
7���ก�� �
���
�7�ก�����4��8
�R�ก�S>�6�
{ 
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�����9��ก��� ก2  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

4.  4��ก�������19�c��
k��76�

5��c�
�กd8
���������
�� 
�
���88������
<j��R�  

- c������ก���4�������;�c�

4�5j�;	�c�
�ก���k�	�� 
���ก
�������88���4d8 
c�
�กd8�
��R�ก�S>�6�
{
����	�� ��ก4�ก��9�����
�k��
�6
7
ก��58�6�
<R�<�;ก
�����
���� 

- ���7�ก�����4��8
��88������;	�����
����5����6�ก�� 5 
:�	>� 

- 1 2 3 2 4 4 2 

5.  4��ก�������19�c��
�����ก
��	�̂�
7W���8�	���W88R	���
?��;� ��^���ก�9�
������� (Dike)  

- c����ก�������	
��
���
������
�� ��4�ก���k
�	�� ���ก
�������8
8���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ��ก������
��?�� ����
��^��	����j��R�ก�S>4R�
�k �
�8R	���������;�
ก��8��ก��7
�� :��
��ก�����4���4�ก��?. 

- 1 2 3 2 4 4 2 
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�����9��ก��� ก2  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

6.  4��ก�������19�c��
��
���<̂���	�̂�

�����?��;� 
��^���ก�9�������� 
(Dike) 

- c����ก�������	
��
���
������
�� ��4�ก���k
�	�� ���ก
�������8
8���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ����88ก������RX��
����5j�
���j�	��8
��5��
ก6�;	��ก�����ก���k 
�
���ก�����4�W����
����8����ก6���
�	
�

;	�5j�
�� 

- ��ก�������9
�R�ก�S>
���44�8����������� 
�
��4�
��^����5��
	��
��8�R� (Control 
Room) :��5����ก��
���4��8�R�ก�S>��6�

���j����� 

- �����ก��
���4��8ก��
�����	
��
���
������
�����
���56� �
�����8
��
�	
�;�c�

��6�
���j����� 

3 2 3 2 4 12 4 
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�����9��ก��� ก2  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

7.  4��ก�������19�c��
���������
��
�����	
��ก4�กc�
 
�<6� ��ก4�ก��
>� 
56��6�� (Flexible 
Hose) �
�
���ก
���W���
���������
��  

 

- �ก����ก�����0��2� 
�
̂����� ���4��� �
�
	�����c���W���5������
���������ก 

- �̂9�5��c�
�กd8���������

����������^��;	�
���ก
��;�6	���ก�ก
���
ก����������� 

- ��9����ก�����8���
��
;�ก�����4	���
��
กj�	��;	����
���;�6
	���ก�ก���
ก����
������� 

- ���c���8�
�
�
���8�
�����������
�
�� 24 <���:�
��̂��
�]����8�
�
��j�
7W������6
:�
���8�
 

- �S�
�>;	�
���ก
��;�6
	���ก�ก���
ก��
���������8����S
5����������^�� 

- ������7�ก��
���4��8�?��
�̂9�5��8����Sc�
�กd8
���������
�� 

3 2 2 1 1 6 2 
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�����9��ก��� ก2  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

8.  4��ก�������19�c��
�S�5j�ก���6
���
������
����
ก��8��ก��7
��
��ก�������	
��

������
���ก���19�
��	�6�
	���
��
�:��5����88
�������
�ก���6�
��ก��
c�
�กd8
���������
��8ก
��6�
 

- �ก���kk���c���>5j�;	��ก��
�k�	�� ���ก
�������8
8���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ���7�ก�����4��8
��88�������
�ก��
�6���ก;	�����
����5����6�ก�� 5 
:�	>� 

 

- ������7�ก��
���4��8ก��
�����	
��
���
������
��
��	�6�
	���
��
� �
�����8
��
�	
�;�c�

��6�
���j����� 

3 2 3 2 4 12 4 



 
 
 

 

                                                          94 

�����9��ก��� ก2  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

9.  4��ก�������19�c��
�S������������
��
���R�ก�S>���
����8��
�	
�
<j��R� 

- ������
��
��c�
�
�
�����	
?��;���^���ก�9�
������� (Dike) �1�
��h�
��������6��R�?����

���ก
�� �
�c����
���ก���k4��ก���k
�	����� 

-���7�yRก�y��ก���6

���������
��5��	ก
�����	
?��;���^���
ก�9�������� (Dike) 
76��5�
��
��8��
��̂���6
��กj�4��5��
��888j�8���9j����� 

- ���7�ก��8j��R
��ก2�
�<�
���
ก��ก�8�R�ก�S>
�������8��
�	
� 

- �����ก�����4��8
��
��8��5���6
���
������
����
��888j�8���9j�����
��̂�����
ก��ก���R�
��� 

- �����ก����4��S�
�j����������
��
5��	ก�����	
�6
��
8��2�55����8�������
 
�
���ก���������	>
�����R��5R���̂��
�5��8ก�8ก��8j�8��
��
5����888j�8���9j�
���� 

2 3 3 2 4 8 3 
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�����9��ก��� ก2  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

10.  4��ก�������19�c��
���������
��
�����	
��ก4�ก
c�
 �<6� ��ก4�ก
��
>� 56��6�� 
(Flexible Hose) 
:��5����88�4�

��^��ก�������	

���� 

- c�����ก
���W������
������
��4���h�
��������6��R�?�� �
�
c�������ก���k4��ก���k
�	����� 

- ���ก
������7
�� (Field 
Operator) ��ก�����4
	���
��5Rก 6 <���:�
 

- ��ก�����4��8��88
�4�
���̂��������
�����	
��6�
���j����� 

- 2 2 3 2 4 8 3 
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�����9��ก��� ก2  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

11.  4��ก�������19�c��
c�
�กd8�������
��
�������8ก��
�76��
����������
4�ก�k�	��
8����S;ก
�����
 

- c�
�����8���������1�
c��
��ก4�ก6�;	��ก������
����	���6�:��
����

��
c�
 5j�;	�c�
��ก �
�
��4�ก��8
��� (BLEVE) 
5j�;	����ก
�������8
8���4d8 c�
�
��R�ก�S>
�6�
{����	�� <R�<��
�
���
���
��������8
7
ก��584�ก��
���8�� 

- ��	��y���9j���8��
�
<���
��W6ก�85�� (Fire Fixed 
Type Monitor) �
�56�
�6
�9j���8��
�
�����
���y���j�	��8
�����
���� �
���ก��
���4��8��^��
� 1 
���9
 

- ��ก�������7�yRก�y��
ก�S��ก��ก�������	

��
���������
��
�
�
Rก����k��
� 4 
���9
 

- 1 4 3 2 4 4 2 
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�����9��ก��� ก3  7
ก��<�986
��������
�ก������������������
8����Sc�
�กd8ก��������ก���� 825 
Wก8�0ก>���� c�
5�� 1 ������\� What If Analysis 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

1.  4��ก�������19�c��
��88ก��46��
��:���4�����c�

�กd8ก��������ก5��
5j�
�����:�����
<j��R� �S�5����ก��
�6
ก��������ก��
5��ก��8��ก��7
�� 

- ��ก���4�;�8����ก�0 
�����W6c�
5�
��
>�	��;4
(Breather Valve)  5j�;	�
��ก���4�;�c�
�W
�19� c��
�����ก���k 4�5j�;	�c�

�ก���k�	�� ���ก
��
�����88���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ก�S���8846��
��:���4�5��
5j�
�����:�����
<j��R� ���ก
��
���4j�	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� 
(Field Operator) 
������
>�5j�
��
�����̂� (Manual 
Valve) 	����
� 8 
(?��5�� 8) ��̂��;	�
��:���4�����c�
 

- �����ก�����4��8
��88ก��46��
��:���4�����c�
�กd8
ก��������ก5��5j�
��
���:�������h����4j� 

1 2 3 2 4 4 2 

 



 
 
 

 

                                                          98 

�����9��ก��� ก3  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

2.  4��ก�������19�c��
��88ก��46��
��:���4�����c�

5��5j�
�����:�����
�
���
>�	��;4
(Breather Valve) 
<j��R��S�5����ก��
�6
ก��������ก
��5��ก��8��ก��
7
�� 

- ��
���?��;�c�
��h�
�RXX�ก�0 5j�;	�c�
�R8
�ก��ก�������	
��

ก��������ก?��;� ��^���
ก�9�������� (Dike) �1�

��h���������6��R�?��
��
���ก
�� �
�c����
���ก���k4��ก���k�	��
��� 

- ก�S���8846��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� 
(Field Operator) ����
��
>�5j�
�������̂� 
(Manual Valve) 
	����
� 8 (?��5�� 8) 
��̂��;	���:���4�����c�
 

- �����ก��
���4��8��
>�
	��;4 (Breather 
Valve) ��h����4j� 

1 4 3 2 4 4 2 
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�����9��ก��� ก3  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

  - ��ก�������9
�ก4���
��
��� (Pressure 
Gauge) �	�^���
�	
�
;�c�
�
���ก���4�

��^�����ก
�����4j�
	��
��8�R� 
(Boardman) c����
���
;�c�
7���ก�� �
���
�7�ก�����4��8
�R�ก�S>�6�
{ 
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�����9��ก��� ก3  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

3.  4��ก�������19�c��
��88��8��
��:���4���ก
4�กc�
5��5j�
��
���:������
���
>�
	��;4(Breather 
Valve) <j��R�
�S�5����ก����8
ก��������ก����c�
 

- ��
���?��;�c�
5���W
5��
�ก��4�กก���	
������
��
ก��������ก5j�;	�c�

��ก �ก��ก�������	
��

ก��������ก?��;� ��^���
ก�9�������� (Dike) �1�

��h���������6��R�?��
��
���ก
�� �
�c����
���ก���k4��ก���k
�	����� 

- ก�S���88��8��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� 
(Field Operator) ���
��
>�5j�
�������̂� 
(Manual Valve) 
	����
� 7 (?��5�� 8) 
��̂��	�R�ก����8ก����
����ก 

- �����ก��
���4��8��
>�
	��;4 (Breather 
Valve) ��h����4j� 

1 4 3 2 4 4 2 
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�����9��ก��� ก3  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

  - ��ก�������9
�ก4���
��
��� (Pressure 
Gauge) �	�^���
�	
�
;�c�
�
���ก���4�

��^�����ก
�����4j�
	��
��8�R� 
(Boardman) c����
���
;�c�
7���ก�� �
���
�7�ก�����4��8
�R�ก�S>�6�
{ 
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�����9��ก��� ก3  (�6�)  
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
��
�
��� 

5����>
��� 

4.4��ก�������19�c��
k��76�

5��c�
�กd8
ก��������ก �
�
��88������<j��R�  

- c������ก���4�������;�c�

4�5j�;	�c�
�ก���k�	�� 
���ก
�������88���4d8 
c�
�กd8�
��R�ก�S>�6�
{
����	�� ��ก4�ก��9�����
�k��
�6
7
ก��58�6�
<R�<�;ก
�����
���� 

- ���7�ก�����4��8
��88������;	�����
����5����6�ก�� 5 
:�	>� 

- 1 2 3 2 4 4 2 

5. 4��ก�������19�c����
���ก
��	�̂�
7W���8�	���W88R	���
?��;� ��^���ก�9�
������� (Dike)  

- c����ก�������	
��

ก��������ก ��4�ก���k
�	�� ���ก
�������8
8���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ��ก������
��?�� ����
��^��	����j��R�ก�S>4R�
�k �
�8R	���������;�
ก��8��ก��7
�� :����
ก�����4���4�ก��?. 

- 1 2 3 2 4 4 2 
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�����9��ก��� ก3  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
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����8
���� 
�����
 

8R��
 <R�<
� 

���
���

��� 

5����>
��� 

6.  4��ก�������19�c����

���<̂���	�̂�
�����
?��;� ��^���ก�9�
������� (Dike)  

 

- c����ก�������	
��

ก��������ก ��4�ก���k
�	�� ���ก
�������8
8���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ����88ก������RX��
����5j�
���j�	��8
��5��
ก6�;	��ก�����ก���k 
�
���ก�����4�W����
����8����ก6���
�	
�

;	�5j�
�� 

- ��ก�������9
�R�ก�S>
���44�8����������� 
�
��4�
��^����5��
	��
��8�R� (Control 
Room) :��5����ก��
���4��8�R�ก�S>
��6�
���j����� 

- �����ก��
���4��8ก��
�����	
��
ก����
����ก������56� 
�
�����8
��
�	
�;�c�

��6�
���j����� 

2 2 3 2 4 8 3 
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��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

7.  4��ก�������19�c��
ก��������ก
�����	
��ก4�กc�
 
�<6� ��ก4�ก��
>� 
56��6�� (Flexible 
Hose) �
�
���ก
���W���
ก��������ก 

 

- �ก��ก����8�	��4�Wก ��
�
��� 	��;4������ 
��6�	����ก �
�
����<����c���W���5������
���������ก��h���
���� 

- �̂9�5��c�
�กd8ก������
��ก��������^��;	�
���ก
��;�6	���ก�ก
���
ก����������� 

- ��9����ก�����8���
��
;�ก�����4	���
��
กj�	��;	����
���;�6
	���ก�ก���
ก����
������� 

- ���c���8�
�
�
���8�
�����������
�
�� 24 <���:�
��̂��
�]����8�
�
��j�
7W������6
:�
���8�
 

- �S�
�>;	�
���ก
��;�6
	���ก�ก���
ก��
���������8����S
5����������^�� 

- ������7�ก��
���4��8�?��
�̂9�5��8����Sc�
�กd8
ก��������ก 

3 4 3 1 1 12 4 
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����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

8.  4��ก�������19�c��
�S�5j�ก���6

ก��������ก��ก
��8��ก��7
����
ก�������	
��

ก��������ก
�ก���19���	�6�

	�����
�:��5��
��88�������
�
ก���6���ก��
c�

�กd8ก��������
ก8ก��6�
 

- �ก���kk���c���>5j�;	��ก��
�k�	�� ���ก
�������8
8���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ���7�ก�����4��8
��88�������
�ก��
�6���ก;	�����
����5����6�ก�� 5 
:�	>� 

- ������7�ก��
���4��8ก��
�����	
��
ก����
����ก��	�6�
	���
��
� 

2 2 3 2 4 8 3 
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7
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����ก�����
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�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

9. 4��ก�������19�c��
�S�����ก������
��ก�R�ก�S>���
����8��
�	
�
<j��R� 

- ก��������ก
��c�
 �
�
�����	
?��;���^���ก�9�
������� (Dike) �1�
��h�
��������6��R�?����

���ก
�� �
�c����
���ก���k4��ก���k
�	����� 

- ���7�yRก�y��ก���6

ก��������ก5��	ก
�����	
?��;���^���
ก�9�������� (Dike) 
76��5�
��
��8��
��̂���6
��กj�4��5��
��888j�8���9j����� 

- ���7�ก��8j��R
��ก2�
�<�
���
ก��ก�8�R�ก�S>
�������8��
�	
� 

- �����ก�����4��8
��
��8��5���6

ก��������ก��
��888j�8���9j�����
��̂�����
ก��ก���R�
��� 

- �����ก����4��S�
�j�ก��������ก5��
	ก�����	
�6
��
8��2�55����8�������
 
�
���ก���������	>
�����R��5R���̂��
�5��8ก�8ก��8j�8��
��
5����888j�8���9j�
���� 

2 4 3 2 4 8 3 
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����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

10.  4��ก�������19�c��
ก��������ก
�����	
��ก4�ก
c�
 �<6� ��ก4�ก
��
>� 56��6�� 
(Flexible Hose) 
:��5����88�4�

��^��ก�������	

���� 

- c�����ก
���W���ก����
����ก4���h���������6�
�R�?�� �
�c�������ก��
�k4��ก���k�	����� 

- ���ก
������7
�� (Field 
Operator) ��ก�����4
	���
��5Rก 6 <���:�
 

- ��ก�����4��8��88
�4�
���̂��������
�����	
��6�
���j����� 

- 2 4 3 2 4 8 3 
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:�ก�� 
�����R���
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 <R�<� ���
���

��� 
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��� 

11. 4��ก�������19�c��
c�
�กd8ก��������
ก�����8ก���76
��
����������
4�ก�k�	��
8����S;ก
�����
 

- c�
�����8���������1�
c��
��ก4�ก6�;	��ก������
����	���6�:��
����

��
c�
 5j�;	�c�
��ก �
�
��4�ก��8
��� (BLEVE) 
5j�;	����ก
�������8
8���4d8 c�
�
��R�ก�S>
�6�
{����	�� <R�<��
�
���
���
��������8
7
ก��584�ก��
���8�� 

- ��	��y���9j���8��
�
<���
��W6ก�85�� (Fire Fixed 
Type Monitor) �
�56�
�6
�9j���8��
�
�����
���y���j�	��8
�����
���� �
���ก��
���4��8��^��
� 1 
���9
 

- ��ก�������7�yRก�y��
ก�S��ก��ก�������	

��
ก��������ก�
�

Rก����k��
� 4 ���9
 

- 1 4 3 2 4 4 2 
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���
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��� 

12.  4��ก�������19�c��
56������>�9j� �
�
56������>
:�������=���ก
���>5��;<���ก4�8��
��
ก��������ก
ก6���
6���W6
8����ก�0��� 

- ��6��ก����ก4�8����

ก��������ก ก6����8��
�W68����ก�0 5j�;	��ก��
ก
�������9��kR�
ก��4����
8����S:�

�� :�

��
���
����
 �
�<R�<� �1�

ก
�����9c������ก��h�
��������6��R�?����

�� 

- ��ก�������9
�R�ก�S>���
�����ก���	
 (Flow 
Meter) ��
�9j��
�
:�������=���ก���>5��
8����S��ก4�8����

ก��������ก ��̂���̂����
ก���	
��
56������>
�9j� �
�56������>
:�������=���ก���> 

- ���7�ก�����4��8
�?��56������>�9j� �
�
56������>:�������=��
�ก���> ��h����4j� 

- 3 3 3 1 1 9 3 
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�����9��ก��� ก4  7
ก��<�986
��������
�ก������������������
8����Sc�
�กd8ก��������ก���� 825 
Wก8�0ก>���� c�
5�� 2 ������\� What If Analysis 
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 <R�<� ���
���
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1.  4��ก�������19�c��
��88ก��46��
��:���4�����c�

�กd8ก��������ก5��
5j�
�����:�����
<j��R� �S�5����ก��
�6
ก��������ก��
5��ก��8��ก��
7
�� 

- ��ก���4�;�8����ก�0 
�����W6c�
5�
��
>�	��;4
(Breather Valve)  5j�;	�
��ก���4�;�c�
�W
�19� c��
�����ก���k 4�5j�;	�c�

�ก���k�	�� ���ก
��
�����88���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ก�S���8846��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� 
(Field Operator) ����
��
>�5j�
�������̂� 
(Manual Valve) 
	����
� 8 (?��5�� 8) 
��̂��;	���:���4�����c�
 

- �����ก��
���4��8��88
ก��46����:���4�
����c�
�กd8ก����
����ก5��5j�
��
���:�������h�
���4j� 

1 2 3 2 4 4 2 
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2.  4��ก�������19�c��
��88ก��46��
��:���4�����c�

5��5j�
�����:�����
�
���
>�	��;4
(Breather Valve) 
<j��R��S�5����ก��
�6
ก��������ก
��5��ก��8��ก��
7
�� 

- ��
���?��;�c�
��h�
�RXX�ก�0 5j�;	�c�
�R8
�ก��ก�������	
��

ก��������ก?��;� ��^���
ก�9�������� (Dike) �1�

��h���������6��R�?��
��
���ก
�� �
�c����
���ก���k4��ก���k�	��
��� 

- ก�S���8846��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� 
(Field Operator) ����
��
>�5j�
�������̂� 
(Manual Valve) 
	����
� 8 (?��5�� 8) 
��̂��;	���:���4�����c�
 

- �����ก��
���4��8��
>�
	��;4 (Breather 
Valve) ��h����4j� 

1 4 3 2 4 4 2 
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  - ��ก�������9
�ก4���
��
��� (Pressure 
Gauge) �	�^���
�	
�
;�c�
�
���ก���4�

��^�����ก
�����4j�
	��
��8�R� 
(Boardman) c����
���
;�c�
7���ก�� �
���
�7�ก�����4��8
�R�ก�S>�6�
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3.  4��ก�������19�c��
��88��8��
��:���4���ก
4�กc�
5��5j�
��
���:������
���
>�
	��;4(Breather 
Valve) <j��R�
�S�5����ก����8
ก��������ก����c�
 

- ��
���?��;�c�
5���W
5��
�ก��4�กก���	
������
��
ก��������ก5j�;	�c�

��ก �ก��ก�������	
��

ก��������ก?��;� ��^���
ก�9�������� (Dike) �1�

��h���������6��R�?��
��
���ก
�� �
�c����
���ก���k4��ก���k
�	����� 

- ก�S���88��8��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� 
(Field Operator) ���
��
>�5j�
�������̂� 
(Manual Valve) 
	����
� 7 (?��5�� 8) 
��̂��	�R�ก����8ก����
����ก 

- �����ก��
���4��8��
>�
	��;4 (Breather 
Valve) ��h����4j� 

1 4 3 2 4 4 2 
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���
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  - ��ก�������9
�ก4���
��
��� (Pressure 
Gauge) �	�^���
�	
�
;�c�
�
���ก���4�

��^�����ก
�����4j�
	��
��8�R� 
(Boardman) c����
���
;�c�
7���ก�� �
���
�7�ก�����4��8
�R�ก�S>�6�
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4.4��ก�������19�c��
k��76�

5��c�
�กd8
ก��������ก �
�
��88������<j��R�  

- c������ก���4�������;�c�

4�5j�;	�c�
�ก���k�	�� 
���ก
�������88���4d8 
c�
�กd8�
��R�ก�S>�6�
{
����	�� ��ก4�ก��9�����
�k��
�6
7
ก��58�6�
<R�<�;ก
�����
���� 

- ���7�ก�����4��8
��88������;	�����
����5����6�ก�� 5 
:�	>� 

- 1 2 3 2 4 4 2 

5. 4��ก�������19�c����
���ก
��	�̂�
7W���8�	���W88R	���
?��;� ��^���ก�9�
������� (Dike)  

- c����ก�������	
��

ก��������ก ��4�ก���k
�	�� ���ก
�������8
8���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ��ก������
��?�� ����
��^��	����j��R�ก�S>4R�
�k �
�8R	���������;�
ก��8��ก��7
�� :����
ก�����4���4�ก��?. 

- 1 2 3 2 4 4 2 
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6.  4��ก�������19�c����

���<̂���	�̂�
�����
?��;� ��^���ก�9�
������� (Dike)  

 

- c����ก�������	
��

ก��������ก ��4�ก���k
�	�� ���ก
�������8
8���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ����88ก������RX��
����5j�
���j�	��8
��5��
ก6�;	��ก�����ก���k 
�
���ก�����4�W����
����8����ก6���
�	
�

;	�5j�
�� 

- ��ก�������9
�R�ก�S>
���44�8����������� 
�
��4�
��^����5��
	��
��8�R� (Control 
Room) :��5����ก��
���4��8�R�ก�S>
��6�
���j����� 

- �����ก��
���4��8ก��
�����	
��
ก����
����ก������56� 
�
�����8
��
�	
�;�c�

��6�
���j����� 

2 2 3 2 4 8 3 

 



 
 
 

 

                                                          117 

�����9��ก��� ก4  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

7.  4��ก�������19�c��
ก��������ก
�����	
��ก4�กc�
 
�<6� ��ก4�ก��
>� 
56��6�� (Flexible 
Hose) �
�
���ก
���W���
ก��������ก 

 

- �ก��ก����8�	��4�Wก ��
�
��� 	��;4������ 
��6�	����ก �
�
����<����c���W���5������
���������ก��h���
���� 

- �̂9�5��c�
�กd8ก������
��ก��������^��;	�
���ก
��;�6	���ก�ก
���
ก����������� 

- ��9����ก�����8���
��
;�ก�����4	���
��
กj�	��;	����
���;�6
	���ก�ก���
ก����
������� 

- ���c���8�
�
�
���8�
�����������
�
�� 24 <���:�
��̂��
�]����8�
�
��j�
7W������6
:�
���8�
 

- �S�
�>;	�
���ก
��;�6
	���ก�ก���
ก��
���������8����S
5����������^�� 

- ������7�ก��
���4��8�?��
�̂9�5��8����Sc�
�กd8
ก��������ก 

3 4 3 1 1 12 4 
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�������	�̂� 
7
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����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

8.  4��ก�������19�c��
�S�5j�ก���6

ก��������ก��ก
��8��ก��7
����
ก�������	
��

ก��������ก
�ก���19���	�6�

	�����
�:��5��
��88�������
�
ก���6���ก��
c�

�กd8ก��������
ก8ก��6�
 

- �ก���kk���c���>5j�;	��ก��
�k�	�� ���ก
�������8
8���4d8 c�
�กd8�
�
�R�ก�S>�6�
{����	�� 
��ก4�ก��9������k��

�6
7
ก��58�6�<R�<�
;ก
�����
���� 

- ���7�ก�����4��8
��88�������
�ก��
�6���ก;	�����
����5����6�ก�� 5 
:�	>� 

- ������7�ก��
���4��8ก��
�����	
��
ก����
����ก��	�6�
	���
��
� 

2 2 3 2 4 8 3 

 



 
 
 

 

                                                          119 

�����9��ก��� ก4  (�6�) 
 

�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

9. 4��ก�������19�c��
�S�����ก������
��ก�R�ก�S>���
����8��
�	
�
<j��R� 

- ก��������ก
��c�
 �
�
�����	
?��;���^���ก�9�
������� (Dike) �1�
��h�
��������6��R�?����

���ก
�� �
�c����
���ก���k4��ก���k�	��
��� 

- ���7�yRก�y��ก���6

ก��������ก5��	ก
�����	
?��;���^���ก�9�
������� (Dike) 76��
5�
��
��8����̂��
�6
��กj�4��5����88
8j�8���9j����� 

- ���7�ก��8j��R
��ก2�
�<�
���
ก��ก�8�R�ก�S>
�������8��
�	
� 

- �����ก��
���4��8��

��8��5���6
ก����
����ก����88
8j�8���9j�������̂��
���
ก��ก���R���� 

- �����ก����4��S�
�j�ก��������ก5��
	ก�����	
�6
��
8��2�55����8��
�����
 �
���ก��
�������	>�����R��
5R���̂���5��8ก�8
ก��8j�8����
5��
��888j�8���9j����� 

2 4 3 2 4 8 3 
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7
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����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

10.  4��ก�������19�c��
ก��������ก
�����	
��ก4�ก
c�
 �<6� ��ก4�ก
��
>� 56��6�� 
(Flexible Hose) 
:��5����88�4�

��^��ก�������	

���� 

- c�����ก
���W���ก����
����ก4���h���������6�
�R�?�� �
�c�������ก��
�k4��ก���k�	����� 

- ���ก
������7
�� (Field 
Operator) ��ก�����4
	���
��5Rก 6 <���:�
 

- ��ก�����4��8��88
�4�
���̂��������
�����	
��6�
���j����� 

- 2 4 3 2 4 8 3 
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�j�c�� 
What If 

�������	�̂� 
7
5���ก���19������ 

����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

11. 4��ก�������19�c��
c�
�กd8ก��������
ก�����8ก���76
��
����������
4�ก�k�	��
8����S;ก
�����
 

- c�
�����8���������1�
c��
��ก4�ก6�;	��ก������
����	���6�:��
����

��
c�
 5j�;	�c�
��ก �
�
��4�ก��8
��� (BLEVE) 
5j�;	����ก
�������8
8���4d8 c�
�
��R�ก�S>
�6�
{����	�� <R�<��
�
���
���
��������8
7
ก��584�ก��
���8�� 

- ��	��y���9j���8��
�
<���
��W6ก�85�� (Fire Fixed 
Type Monitor) �
�56�
�6
�9j���8��
�
�����
���y���j�	��8
�����
���� �
���ก��
���4��8��^��
� 1 
���9
 

- ��ก�������7�yRก�y��
ก�S��ก��ก�������	

��
ก��������ก�
�

Rก����k��
� 4 ���9
 

- 1 4 3 2 4 4 2 
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7
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����ก�����
ก�� 
�
���8�R�������� 

���������� 

ก������������������
 

:�ก�� 
�����R���
 

7

��\> 
����8
���� 
�����
 

8R��
 <R�<� ���
���

��� 

5����>
��� 

12.  4��ก�������19�c��
56������>�9j� �
�
56������>
:�������=���ก
���>5��;<���ก4�8��
��
ก��������ก
ก6���
6���W6
8����ก�0��� 

- ��6��ก����ก4�8����

ก��������ก ก6����8��
�W68����ก�0 5j�;	��ก��
ก
�������9��kR�
ก��4����
8����S:�

�� :�

��
���
����
 �
�<R�<� �1�

ก
�����9c������ก��h�
��������6��R�?����

�� 

- ��ก�������9
�R�ก�S>���
�����ก���	
 (Flow 
Meter) ��
�9j��
�
:�������=���ก���>5��
8����S��ก4�8����

ก��������ก ��̂���̂����
ก���	
��
56������>
�9j� �
�56������>
:�������=���ก���> 

- ���7�ก�����4��8
�?��56������>�9j� �
�
56������>:�������=��
�ก���> ��h����4j� 

- 3 3 3 1 1 9 3 
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�����9��ก��� �1  ����ก��
��
���8�R����������
5������������������8���������
������
c�
�กd8���������
���
�ก��������ก 
 
�j�c�� What If 5�� 

8����S5�������8
7
ก��58 

����ก������ 
:�ก��
���� 

����
�R���

���� 

����8
����

�����
���� 

����ก��;	�6 :�ก��
;	�6 

����
�R���

;	�6 

����8
���������


;	�6 

����������
 ��8�R����������
 

1.  4��ก�������19�
c���S�����
������� 
�R�ก�S>���
����8��
�	
�
<j��R� 

 
 
 
 
 

c�
�กd8�������
5�9
 4 c�
 
 
 
 
 
 
 
 
 
 

- ���7�yRก�y��ก���6

���������
��5��	ก
�����	
?��;���^���
ก�9�������� (Dike) 
76��5�
��
��8����̂��
�6
��กj�4��5����88
8j�8���9j����� 

- ���7�ก��8j��R
��ก2�
�<�
���
ก��ก�8�R�ก�S>
�������8��
�	
� 

 

2 
 
 
 
 
 
 
 
 
 
 

4 
 
 
 
 
 
 
 
 
 
 

3 
 
 
 
 
 
 
 
 
 
 

กj�	���7�ก��
���4��8��

��8��5���6
�������
5��	ก�����	
��ก�ก
�กd8��̂�����
ก��ก��
�R���� 
 
 
 
 

 

��4��S��j�
�������5��	ก
�����	
�6
��
8��2�55����8��
�����
 �
�
�������	>�����R��
5R���̂���5��8ก�8
ก��8j�8����
5��
��888j�8���9j�
���� 

 

1 
 
 
 
 
 
 
 
 
 
 

4 
 
 
 
 
 
 
 
 
 
 

2 
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�j�c�� What If 5�� 

8����S5�������8
7
ก��58 

����ก������ 
:�ก��
���� 

����
�R���

���� 

����8
����

�����
���� 

����ก��;	�6 :�ก��
;	�6 

����
�R���

;	�6 

����8
���������


;	�6 

����������
 ��8�R����������
 

2.  4��ก�������19�
c�����������

�������	
��ก
4�กc�
 �<6� 
��ก4�ก��
>� 
56��6�� 
(Flexible Hose) 
:��5����88
�4�
���̂�ก��
�����	
���� 

 

c�
�กd8�������
5�9
 4 c�
 

- ���ก
������7
�� 
(Field Operator) ��ก��
���4	���
��5Rก 6 
<���:�
 

- ��ก�����4��8��88
�4�
���̂��������
�����	
��6�
���j����� 

2 4 3 - - 2 4 3 
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�j�c�� What If 5�� 

8����S5�������8
7
ก��58 

����ก������ 
:�ก��
���� 

����
�R���

���� 

����8
����

�����
���� 

����ก��;	�6 :�ก��
;	�6 

����
�R���

;	�6 

����8
����

�����
;	�6 

����������
 ��8�R����������
 

3.  4��ก�������19�
c����
���<̂���
	�̂�
�����
?��;� ��^���
ก�9�������� 
(Dike) 

 

c�
�กd8ก����
����ก5�9
 2 c�
 

- ����88ก������RX��
����5j�
���j�	��8
��
5��ก6�;	��ก�����ก���k 
�
���ก�����4�W����
����8����ก6���
�	
�

;	�5j�
�� 

- ��ก�������9
�R�ก�S>
���44�8����������� 
�
��4�
��^����5��
	��
��8�R� (Control 
Room) :��5����ก��
���4��8�R�ก�S>
��6�
���j����� 

2 4 3 กj�	���7�ก��
���4��8ก��
�����	
��

ก��������ก���
���56� 

กj�	���7�ก��
���4��8����8
��
�	
�;�c�

��6�
���j����� 

1 4 2 
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8����S5�������8
7
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����ก������ 
:�ก��
���� 

����
�R���

���� 

����8
����

�����
���� 

����ก��;	�6 :�ก��
;	�6 

����
�R���

;	�6 

����8
���������


;	�6 

����������
 ��8�R����������
 

4.  4��ก�������19�c��
�S�5j�ก���6

ก��������ก��ก��
8��ก��7
����ก��
�����	
��
ก����
����ก�ก���19�
��	�6�
	�����
�
:��5����88������
�
�ก���6���ก��

c�
�กd8ก��������
ก8ก��6�
 

c�
�กd8ก����
����ก5�9
 2 c�
 
 
 
 
 
 
 
 

- ���7�ก��
���4��8��88
�������
�ก��
�6���ก;	�����
����5����6�ก�� 5 
:�	>� 

 
 
 
 

2 
 
 
 
 
 
 
 
 

4 
 
 
 
 
 
 
 
 

3 
 
 
 
 
 
 
 
 

กj�	���7�ก��
���4��8ก��
�����	
��

ก��������
ก��	�6�
	���
��
� 
 
 

 

กj�	���7�ก��
���4��8����8
��
�	
�;�c�

��6�
���j����� 
 
 
 
 

 

1 
 
 
 
 
 
 
 
 

4 
 
 
 
 
 
 
 
 

2 
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�j�c�� What If 5�� 
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����ก������ 
:�ก��
���� 

����
�R���

���� 

����8
����

�����
���� 

����ก��;	�6 :�ก��
;	�6 

����
�R���

;	�6 

����8
���������


;	�6 

����������
 ��8�R����������
 

5.  4��ก�������19�c��
56������>�9j� �
�
56������>
:�������=���ก
���>5��;<���ก4�8��
��
ก��������ก
ก6���
6���W6
8����ก�0��� 

c�
�กd8ก����
����ก5�9
 2 c�
 

- ��ก�������9
�R�ก�S>
��������ก���	
 
(Flow Meter) ��
�9j�
�
�:�������=���ก
���>5��8����S��ก4�8
����
ก��������ก 
��̂���̂����ก���	

��
56������>�9j� 
�
�56������>
:�������=���ก���> 

- ���7�ก�����4��8
�?��56������>�9j� 
�
�56������>
:�������=���ก���> 
��h����4j� 

3 3 3 - - 3 3 3 
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����ก������ 
:�ก��
���� 

����
�R���

���� 

����8
����

�����
���� 

����ก��;	�6 :�ก��
;	�6 

����
�R���

;	�6 

����8
����

�����
;	�6 

����������
 ��8�R����������
 

6.  4��ก�������19�c��
��88ก��46��
��:���4�����c�

�กd8�������5��
5j�
�����:�����
<j��R� �S�5����ก��
�6
���������5��
ก��8��ก��7
�� 

c�
�กd8�������
5�9
 4 c�
 

- ก�S���8846��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� 
(Field Operator) 
������
>�5j�
������
�̂� (Manual Valve) 
	����
� 8 (?��5�� 
2) ��̂��;	���:���4�
����c�
 

1 4 2 - กj�	���7�ก��
���4��8��88
ก��46����:���4�
����c�
�กd8�������
5��5j�
�����:�����
��h����4j� 

1 4 2 
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8����S5�������8
7
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����ก������ 
:�ก��
���� 

����
�R���

���� 

����8
����

�����
���� 

����ก��;	�6 :�ก��
;	�6 

����
�R���

;	�6 

����8
����

�����
;	�6 

����������
 ��8�R����������
 

7.  4��ก�������19�c��
��88ก��46��
��:���4�����c�
5��
5j�
�����:�����
�
���
>�	��;4
(Breather Valve) 
<j��R��S�5����ก��
�6
���������5��
ก��8��ก��7
�� 

c�
�กd8�������
5�9
 4 c�
 

- ก�S���8846��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� 
(Field Operator) ����
��
>�5j�
�������̂� 
(Manual Valve) 
	����
� 8 (?��5�� 2) 
��̂��;	���:���4�����
c�
 

1 4 2 - ���4��8��
>�
	��;4 (Breather 
Valve) ��h����4j� 

1 4 2 
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;	�6 

����
�R���

;	�6 

����8
���������


;	�6 

����������
 ��8�R����������
 

8.  4��ก�������19�c��
��88��8��
��:���4���ก4�ก
c�
5��5j�
�����:�����
�
���
>�	��;4
(Breather Valve) 
<j��R������ก��
�S�5����ก����8
�����������c�
 

c�
�กd8�������
5�9
 4 c�
 

- ก�S���88��8��
��:���4�5��5j�
��
���:�����<j��R� 
���ก
�����4j�
	��
��8�R� 
(Boardman) ;	�
���ก
������7
�� 
(Field Operator) ���
��
>�5j�
�������̂� 
(Manual Valve) 
	����
� 7 (?��5�� 
2) ��̂��	�R�ก����8
ก��������ก 

1 4 2 - ���4��8��
>�
	��;4 (Breather 
Valve) ��h����4j� 

1 4 2 
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:�ก��
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����
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���� 

����8
����

�����
���� 

����ก��;	�6 :�ก��
;	�6 

����
�R���

;	�6 

����8
���������


;	�6 

����������
 ��8�R����������
 

9.  4��ก�������19�c��
k��76�

5��c�
�กd8
������� �
���88
������<j��R� 

 
 
10.  4��ก�������19�c��

�����ก
��	�̂�
7W���8�	���W88R	���
?��;� ��^���ก�9�
������� (Dike) 

c�
�กd8�������
5�9
 4 c�
 
 
 
 
 
c�
�กd8�������
5�9
 4 c�
 

- ���7�ก�����4��8
��88�������
�
ก���6���ก;	�����
����5����6�ก�� 5 
:�	>� 

 
- ��ก������
��?�� 
������^��	����j�
�R�ก�S>4R��k �
�
8R	���������;�
ก��8��ก��7
�� 
:����ก�����4���
4�ก ��?. 

1 
 
 
 
 
 
1 

4 
 
 
 
 
 
4 

2 
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